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Lecture 1

(( Grammar ))..d) Fra Ao b adii

(agd Aul) Al o<1y ((Grammar)) U ods Gy jlas dllia

? What is Grammar

. Grammar is defined as the rules that say how words are combined,
arranged and changed to show different meanings

e salll oA La
JHEY W S 5 gl g lalSl) auand ol LS il g AN a0 g8l 1 gadll iy gl oy
RLEAEW g.i'l:..a

Mia cclalsl) oda Laic
teacher, student, question, asked

I € aaloal! sia dlan (B cilalsl) o3a Jaad CiS |, Joli g Jlad 28

> The teacher asked the student a question4lea Jsi
Loduda dlaa U yedad LUK ) o culalSl) oda U, Grammar =) u5 Glasld A ha

> The student asked the teacher 45U 4lea aai® AT JS& i Al 138 i8S (Sas
a question
SV g alral) Sl ) ga Gilldal) Ligh
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The largest unit of grammar is the sentence

Adaal) A 4alll a0 g8l Baag ]
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: ((Sentences))danll A o i Al

¢ alaad) A L1
A sentence is a group of words that expresses a statement, question,
command or exclamation

ralaall 44lidL]) Types day ) ) oA
1- Type statement
2- question Type
3- command Type
4- exclamation Type

.. A Sentence consists of one or more clause
OIS (a AS) g oaal g s Ao (g gt Aland)
.. and usually has at least one subject and verb
g Jud gaalg Jeld o g giad dlaadl Sale
: Types of Sentences
W88 Aoy ) L Adaad) of U SA Las

= :((Statement)) Js¥)
¢¢ Statement sentence 4l Aleall A L
Wil sl gl ddea (2
Ay 25 ) duay juat Alaa 1 ey (( Declarative sentence )) bkl x4

alaa gl "Statement sentence” 4xiln 4lea Lge 55 Alaa A : He is studying << Jie
"Declarative sentence" 4sis 23 o) Ay pal

) it i (5o Gy R (o daglan e

(( Statement sentence )) oawdd 4aglaall (o & 52 g Aaglaa Lithe | dlaal) s2a Juaih
(( Declarative sentence ))...s!

..We can make statements affirmative or negative
LA ) Agile dgdlnd) Alaad) Jaad LI ¢Saal) (e
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: | have found a mistake alreadyJta
"Statement sentence” ...kl £ 4ill (1 Addia Alax Alaadl o2

: | have not found any mistakes yet AT Jtia
alaal) Sl ) Gbead) JUal) B Y1 Alaad) Jod < S0 LY Aziie Alay Alaad) oda
" Statement sentence ".. Sl £ 531 e L) Ay . (( Aiall

 ((not - any - yet )) ..Jie lalS 352 g Badl 1) Gifilal) Giilaad) G 5 25 !

(( negative 4xdia 4lay L) &l iy 7)) auslall (pad dlan (B Lglian 9 131 cilalSl) o
sentence)) ..

Aldle Alay Ll el cilalSl) oda 1) clals) o2 Ly aa 65 3 AR dland) Ll
((sentence affirmative )) ..

(( affirmative Aias <ufiac "Statement sentence " 4xball Alaad) (e ole o8 G13gd

& negative ))
JIs=d) : ((Question )) Jeal (e ALY £ o)

¢ (( Question sentence )) Jlsud) Adas (& Lo
Ll o 8 gl daglea oo Jlad Alay A
Aulgiiol dlea: ina (( Interrogative sentence )) =5 S

:JUa
s34 13 ¢ "asks for information"4asiaa ¢& Jlws £ 5 12als he studying? <<
((Interrogative sentence)) .. ((Question sentence)) L 55 4ladl
) .58 Juﬁdg((u\sh“pmum

: Al Jua
alaall o3 13 ¢ "makes a request” b o addy £ 5l 12Can | go study <<
((Interrogative sentence)) ..s' ((Question sentence)) < &
el Sl o) Al pled) ity (il
Y1 ((Command)) s& Jeadl (e GG £ 6il)

¢ Command sentence %! 4lax A Lo
. opiad o) 1B gl el hans dlay
LAgadal) dlaal) ¢ dras (( Imperative sentence )) Lyl s X5 284

:.Go to study Ju«
) s dads Ol o salid (( paiesal) galy uaaiall Lia
(( 5" (Command sentence )) L 55 4laad 038 13} ¢ ) g cad) ; 41 JuBd
Imperative sentence)) ..

: 1 Be careful AT Jiia
)) e gt a0 skan g (( paianal) Lo 7 Ry cuaatial) Lia



(( Imperative ) ((Command sentence )) s s 4laadl ada 131 ¢ I1 43 ; A3 S5
sentence )) ..

Command s s3a) 038 dlaad) 4ilgd B i Aadle 2y g3 AN JUally Jaay
sentence ..
=223 : Exclamation s& Jaad e @l ) £ 63

¢ Exclamation sentence 4xaaill dlaal) 4 La
sl g) i ga gad Eisatall jelin cia gl ardid dley (A

"express the &aliall gl ciay £ 53 138 : | What a lovely day << Jba
) speaker’s feeling"
(=58 Adaadl oda 13 ¢ agall (pudi 8 dgalgle dua (a0 ) ol gy itatal) Uia
Exclamation sentence )) ..

"express the cuaiall ) gad iy Lay) g ol 134 ; | Excellent << JAT Jlia
) speaker’s attitude"
(@5 Adandi o3 13) ¢ 0 a8 &) gl Cluatd g i Aa) 65 Lanie JUS Alaat) oda
Exclamation sentence)) ..
Exercise
JIdentify the type of each of the following sentences

a. statement b. question c. command d. exclamation

1. ?How often do you come here
13 5> daglaa o diag 4d Alaadl ¢ gadan (e Lag) g) § (= 4 gida Alaad) oy Baad
dgalgding dlaa il gall:
: b. question 4

2. ! How interesting this article is
IS4 1 Osly ¢ L B (How) 4alS aga g dun (e I alaadla ¢ @85 ) Aglally
(article ) ol sy A1 Sl o)) ua (s ) $29 Agl) (B sl Jadl) o) Badbi 7 (5.9
LAgdlal) aleal) b Jelal) sy AL Jadl) O g aall ey
dasaat dlan o ol sad) 13) D> canad Aadlay da gidia dlaad) o) Laag) B3aY
: d. exclamation4ala¥)

3. ! Hurry up before the train’s departure
(Hurry dalS s sd ¢ 4zt dlan ol 4laad) o2 (81 g (1) = 4 gida alaad) o)) aadl
WO ddde Ul Caly of U8 £ e O aaiall by diaaial) 13c aatiall jals Lagp)
o) Alaa 13
: €. command4aaY)



4. ? How interesting is this article
((2. ! How interesting this article is )) (& (2 4N Alaal) (3 A1 ) glaaY
((4. ? How interesting is this article)) :4leal) o3 ¢

143l 4laal)
Jeldll gy A JadlN-
adaal) JA) A algdin) UA (w2
Gaadall gl Aai3-
dgalgdiv Alea il (gf dppad Adaa 13>

daa ) ddaad)
Jel&ll Jd ) J=il)-
aland) A1 B algiin) ellia2-
daglra (e Cai3-
o B Qi g 98 9 << Aalgdini Alan A (RIS
: b. question 4la¥)

5.. This article is very interesting
Al Alas 4 13) << Aaglra (e 5 Lihae) dlaqd) oda Juady
: a. statementaay)

Simple, Compound and Complex Sentences
palinall g 4S yall cAdasead) Jaadl

OB e g e L3R W) S 7)) A4S (g alad¥) Bala 33

o aSuhelu (Y1 (81 g Adadldl) il pualaal) B JiS) Jhada JSdy L pdi £ 53Y) 028

ahsal) 4laadi1- Simple sentence

: The man is hereJia
ddaiiy dlan oM 13 << Jla -Jad — Jeld - L

4.8 yal) 4laali2- Compound sentence
: The man is here, and he wants to see youJia
> The man is here ds¥! adaad)
> he wants to see you4stll Alaal)
4 ja dlea & 13 and +, << paliky cpilea

saiaall 4laali3- Complex sentence



: The man that wants to see you is hereJia
piira dlan A 1) << oalna Ciasald ddasd) dlaadl I that Uil

. We will discuss compound and complex Sentences in detail in the coming

lectures
o At <l pulalaal) b Juadilly sdlaall g A8 pall Jagd) (8L 1
Verbs Y

The verb is the central unit ( nucleus ) of an English sentence ..
LAY A3l 8 Alaalt ddau gial) baa gl g4 Jadll

Ldadll Jaa e Adaal) (it
alaal) el ) S5l 04 nucleus << 4alS s

Verbs can refer to actions or states
(9S8 Jadl
refer to actions
Wosll) 8 (e sl Eilaal o34 1 run, walk and talk<< Jie

refer to states !
. oeddl) Al e ali LS o2 1 want, have and be<< Jis

Main verbs vs. Helping verbs
028 Luaall JlrdY) i) dbeal)Asesasl) Jlad)

. Each English sentence has a main verb
bl Jad e (o giad 4 ey dall) b dlay IS

: Mohammed walked homedJia
wrabatd) Jadl) saWalked <<

: Khaled is happydJie
ageba) Jadl) gals <<

. Some sentences also require one or more helping verbs
o HAS) g aalg ol 28 o (g giad Jaad) (g

LABLEY) JedY) 1 Jaay ((auxiliary verbs)) $89 (AU ama Al s Lucall Jadl)



: He is coming to the meeting Ji
wtba) Jad gl aelue Jad I (s ) LA
il J28 S) (coming )

: He could come here soonJie
JAsh 81 gl selua J28 S (could ) Ba
o ) J2dl) 02 (come )
Helping verbs ( auxiliaries ) include:
p AUIS ¢y 9S5 oae Lusal) Jlady)

1. (be (is, am, are, was, were
2. have, has, had
3. do, does, did
4. Modal auxiliaries: can, could, shall, will, would, may, might.. etc

4332 s
LY (g B dpabad Jlad) 1gigG B Y g Y g ) A

: He is hereJia
o Alaa) B la¥) Jadl) ga (js) Ua

Exercise
JIdentify whether the underlined verb is the main verb or the helping verb of
each sentence below
a. main verb b. helping verb

1. Students like fast food
b Jad gaLike<<
: a. main verb 4\

2. He has enough money for the trip )
Jud Alia Ja fasluia Jad ga Ja alaadl oda A (Sl g sl Jub (has) o Ll U Sd Las
¢ Al
) b 5a 13) << AT Jad aa g ¥ Y
: a. main verb 4!

3. Khaled does not want to go to school today
selua Jad g does < Jadl) Lzt
(sl J2d 5& want < Jadll
LS laa 28 ) gad) dIk<
: b. helping verb4adaY)



4. He is helping me wash the dishes
=ba) J2dl) 92 helping < J=dl)
3o Luall Jadl) 4 (is) < Jrdll 4
bl J28 ga Gl sl 13l
: a. main verb 4!

5. He will arrive shortly
aolca J2d g2 will < Jadl) Ll
bl J2b s arrive < Jadl)

ac b Jad ) gad) 13c<
: b. helping verb 4!

Transitivity
JalS e Alaall Cucai g 4y g A LSl Alagh ) Gy AnlSligl il ns culle
el g

: Verbs are divided into two groups based on transitivity
g gadl) Addl) Gl o (e gana 1 Al JladY)

: Intransitive verbsJs¥! g sii1-
U Y ) Mgatia o o DU Jadl) andg A Jerda o g giad Y AN JdY) A
A Jgrdall (o nall AlaiSa dlaal) (Y 43 Jgrda )

: Birds flyJia
JeUBirds <
J=éFly <
LAl 4 e 225 Y

: The man spokeJie
Je¥The man <
J=3Spoke<
LMl 4 dpdaa g ¥

: Transitive verbs <& g 5112
Jrill canw Jadll Ua g ¢ YlaS JiS) Jaad) ualid 4y Jgrda o (5#‘;35\&&3‘2\‘;53
cadaall cra JaiS S Ay Jerda ) pliag s ¢ adiall

:Cmand N Transitive verbs ) awdl g
: Monotransitive verbs Js¥!) awdlif-
"one"..g Wl 4l 1alg AMono <
Ll gdo Jgrda o g giad Al JudY) A



: Khaled broke the windowdie
JelKhaled <
J=ébroke <
43 J g2dathe window <
"the window" s& 5 33/ 42 Jsia lo (5 giay 45¥ Monotransitive verb J=&) g g «

: Ditransitive verbs <) awali2-
Two...A5 9) G (D <
WA (Y rda o g giad Al JadY) A

: Saleh gave Majid a penJia
Je8Saleh <
JxéGave <
ds) 4 Js+iaMajid <
Ol 43 J s2iea pen <
apen”..s: "Majid Lea g s 0¥ 2ia o (s giay 43Y Ditransitive verb Jaill g ¢ ¢

:Exercise
:Decide whether the underlined verbs are
a. intransitive b. monotransitive c. ditransitive

) 1. The student needs a pen
9 clgall 1) (apen) .. << shy g 4 Jgrda o (5 gisy needs Jdl
monotransitive verb
: b. monotransitive 4!

2. Ali told his friend a joke
3 < gal) 13 (a joke) .. << 3 (his friend) Laa s 4 (¥ s2da o s siag told Jadl)
ditransitive verb
: ¢. ditransitive 4»Y)

3. stﬂudents study
intransitive verb <l sl 13 <4 Jgada o (5 iy ¥ study Jedl)
: a. intransitive 4y

) 4. students study books
A <l sall 131 (books) << sa g g 4y Jsada Ao 6 sias study Jadl
monotransitive verb
:b. monotransitive 4!



.. Note: Some verbs can be either intransitive or transitive
Ladaad) o adng 138 g << Aa Y (50 B g Agdaia (0 9ST 3B JladY) Gy A3adla
Direct vs. Indirect Objects
Sl pad) Ay Jprdal) 2l 4y J gadall

.. As we saw in the previous section, ditransitive verbs take two objects.
One of these objects is called a direct object and the other one is called an
indirect object
WA OY grda 34U JadY) (any (ld) adallall 8 Lk e Jia
@S AV ¢ dla 4 J grdar Jaa ((direct object)) S 4 (Y gadall (I3 saa)
w4y J edar Jaay((indirect object))

:The indirect object comes first followed by the direct object in this example
A Jgrdally o 5 I ¥ B AL ((indirect object )) sk sdl 4y Jgadall Bale
((direct object)) .. ptaal)

: He gave me a book Jis
"indirect object" .. Jilua £ 43 Jsrda same <
"direct object".. sdlm 42 Js2da s2a book <

: The indirect object is typically personal as in “me” in the previous
example, and “the man” in the following example
) i (9% 83 "indirect object”

: He asked the man a questiondia
"personal”..s2 s "indirect object” sl £ 43 Jsada sathe man <
"direct object”.. sl 42 Js2da s a question < s
"The indirect object is often equivalent to a prepositional phrase with “to”
or “for

Bl B oy ¢ AU Ay Jsrdall as Al J gL oL Laitiila Ay Jgadal) o LT U5 S0 Lia)
1oh g W) Jakh saal g Alla B AU Ay Jgrdall ay AL B Y1 Ay gl
: to —for..Jhe sy s oY) 4 Jerdall 0 A ()

: He gave a book to meJie
> He gave me a book J<¥ls (& alaad)
Jadl) 2y ) 52 (@ book) (AU 4y Jsrdall ual (to ) = (me) LA Laais (g
gave.. /
«J9 4 Jsrda 52 (to me) Nk

: He bought a gift for his sonJia
> He bought his son a gift J<¥l 4 4leal)
Jedll 3 1) 9 (a gift) A 4x Jsadal) gl (for) = (his son) o2 Lexie (<l



bought.. )
J9) 4 Jgada s (for his son ) l3ic<

~md U 5 plalaalim~

? What is a phrase
A phrase is defined as two or more words that function together as a group

To Ll ‘;hLA
As ganaS laa Jaad i) g JASI g (alS a8 o sl

.e.g. The old man walked down the street
0ol gl e ALl ddaal) b o jlad) o34 cila ¢ The old man s ksl

:There are a number of phrase types in English including
1-Noun phrases
2-Verb phrase
3- Adjective phrases
4-Adverbial phrases
5- Prepositional phrases

e 4 eyl Aall) L8 < jladl £ 68 (e 2ae Sllia
JAan) ddan 43d) e o ladl]-
JAslad dlan dud) dgladl) o jlnli2-
Jhay Adan Al o) Afind dlan 4l ) Afiadll o jLwali3-
)b Je(hSa B A B Alaa 4adi ) 4gd Bl o jladid-
)os ey S ddad dudi ) ygoaally ) 3 s 5-



Each phrase has a head and one or more modifiers*
WJia e JIS) ) aalg JBa g aal g uly Lgd o e ¥

)il an — Audy i Cildia )) B4 Wlia: modifiers 48 gale**

:(The Noun Phrase (NP
LAsan) o jlally oy @b

:A noun phrase (often abbreviated to NP) is a convenient term for any of the
following
1. A Noun
e.g. Ahmed, students
2. A Nominal Group
e.g. a blue pen, the students

aladin ¢ slialy cmgadl) o 1 gaSal) iy " NPY) * ) seaidy La | S g (dranil) o Ll
LSS 7 e Ad) ) G g JalS ethaaal) 1984 o)) e NP il
:gim\gaq‘i;,u&@bmﬁ\g
e, "X VEN fppew B
LUl ¢ 00 Al dsan) AS gana?-

.Each nominal group has a head and one or more modifiers*
Jira e JS) gl aal g Jira g aal g gl Lgd dpansd 4 gana JS*

.Modifiers add to, change or limit the meaning of the head in a phrase. The
head is the word that determines the type of the phrase
Aallil) Glaw) gaaY clViral) il
Lo sbad) (A Gl ) e il
okl (A Gl ) sra (e 2al1D.
Lokl £ ogd aaad Al AalSl) A Gl Y

For example, the word “pen” is a noun that can refer to any kind of pens.
When we modify it as in the previous example “a blue pen”, we limit the
noun so that it
.can only refer to a specific kind of pens

] A" a18 ALY M
Cemaion i) Jliall A LaS Lgdaaty 2 685 Ladic (S1g ¢ aDEY) Cha £ o8 o ) iy B
; n ,_d\)j‘}-‘ﬁ"
aﬁY‘@Op&jd\ﬂMd\CMﬂﬁ&eﬂW Lada o Ua
W) Baad e Ulielu (a) iy aill 3131 g (blue ) Janald
(a blue)..s Jaxall 5 co bl o) alaadl (w1 52 (pen)



:Some other examples
Ahmed’s desk
a book store
the student

. s AY) dliaY) (g
gl oaid (daal gd i) 1 g paddd sddaa A Alglhll Ua(Ahmed’s desk)
EVEY
LS e muath IS ga g 4s gf daa ga Jaal) Ua(a book store)
wellall; aaid ¢ ) My il 3131 odda s Al g Jdaa sla il Ua(the student)

3. A Pronoun

A pronoun is a type of “pro-forms” which are defined as forms used instead

of other forms. Instead of using the nominal group “the old man” we can
use the

S"pronoun “he

a3
", A gl Ziladl) o) susall Zilalll Mt £ 55 A rasal)
LE AT Z I (e Yy dasiiiaa) ziladll A" sy all" Al sal) gz lall)
ssaidal) aladi) W™ §gaadl Ja 1) " the old man- 4sawd) 4 sanall aladin) (e Y
".5" he-

:Pronouns include
:a. Personal Pronouns
.Subject Pronouns: I, you, he, she, it, we, they
.Object Pronouns: me, you, her, him, it, us, them
.Possessive Pronouns: mine, yours, hers, his, its, ours, theirs

ilaal) Jadd
rduaddl) iladal) .
> |, you, he, she, it, we, theydsdl) jilaz
> me, you, her, him, it, us, them4; Js2iall silaz
o (@ o) ddits « 4dhis « Whers « dlyours ¢ (A > mine 4slal) da jilas
.a&ltheirs « Wours <) Jélal)

b. Reflexive Pronouns: myself, yourself, himself, itself...etc
himself « dudly o) dudiyourself ¢ bl o) (udiz myself pulsa) jiladl) .o
&) L JBladl ) Andly o) Lgdlitself ¢ Audly o) dwdi

) .c. Indefinite Pronouns: everyone, someone, something
Lsdsomething « L peddsomeone ¢ alg JS: everyoneesiaa yal) iladl) -z



4. A Pronominal Group
e.g. we all
everyone in our class

In a pronominal group, a pronoun is the head. The pronouns “we” and
“everyone” in the previous examples are the heads of the pronominal
groups

Lol (3laiall (g e Ao garad-
aaa Gl we all Jua
Llat 2 aaalleveryone in our class

ol (i) ga ppadall ¢ padally (glaiall (5 s A gana (b
Ao gana B Gugsl At ABLd) ALY A" aiead) "everyone- "o " we - bl
wopeally B3 gl (g e
WJiaall g - all il sa g el we cwe all
.J¥all 98 - in our class w1 8 9 ssalll everyone «everyone in our class
:Exercise

JIdentify the type of the underlined NP
a. noun b. nominal group c. pronoun d. pronominal group

1. The children went to bed late
b.nominal group

nominal & <l sall 13 < Jold pla dsand 48 gana ¢ Gl )l 8 ¢ (el 0 8 s
Azaul 48 gadagroup

2. | made this cake myself
C. pronoun

pronoun s& o sall 131 < (pulSad) jrada gac " "1 o 352 ¢ saal g 4alS e b b

3. Ahmed owns an expensive car
b. nominal group

13) "expensive” < s: "an" Laa (¥3a da g9 ¢ il A" car' ¢ clalS ¥ oo o e
Azau) 4 gana nominal group $ <l sl

4. Khaled bought a book
a. nhoun



Lo NOUN 38 )52l 13 < dal g amid ¢ 238 g 4alS (e 5 e

5. The book is his
C. pronoun

ul Jé-h-ﬁ ¢ 4slall iy e o) Possessive Pronouns sl « saalg 4als e o s
.Ja pronoun & <l sadl 13 < La padldl Sl st o)

6. Someone in our office forgot to lock the door
d. pronominal group

$""our office 4xlll o jlall g ¢ saa 82 5"™Someone ok Jl ¢ Ol Lial L
""Someone in s (5! ¢ diu) hghiall aan o Ua Jigad) 081 ¢ Lyl paa ga
our office ..

ol 8 9 padaliSomeone
sl (@laia e pronominal group s <lsall 131, < Jaal) sain our office
:Nouns

:Nouns can be divided to
1. :Proper Nouns
e.g. Ahmed, Al-Ahsa
.A proper noun is the name of someone or something that is usually
imagined to be unique

2. :Common Nouns
e.g. friend, desk, bird, air
A common noun is a name given either to an example of a class or to the
class as a whole

:Friend” refers to one example of a class in the following sentence"
e.g. 1. Ahmed is a good friend

:Friend” refers to the class as a whole in the following sentence"
e.g. 2. A friend is somebody we like and know well

Friend” in example 2 is called a generic noun"

:M uj‘ w slaw)
)’:?M\ (‘““) Aasaual) slaw¥)]-
S As 5 G b 068 O Bale sl o d gl padd and ga) alall) maal) an)
Ll S S gadd A WL A iy deal s ged Ladis < daal
Lsbeal) o8 rae Gl AT LG B jhdy slual) gawi Ladie < slual)



)oY (Aapaall slacd) A s38

148 yidial) glaw¥)2-
LIS Adll) ) gfaid o Yliala) dana acd ga & idal) an)

Lalg gadd ) sl ¢ daal o 33 Jo¥1 QU & " Friend"dels1-
" Al Ciy ot ga JUal) 138 A (JSS 4Gl e g g ALY U 8 " Friend" 4als2-
Friend" ..
".ale aul " a generic noun — S 4 S JUal & " Friend" dals*
Exercise

:ldentify whether the underlined noun is
(a. acommon noun (example of a class
b. acommon noun (generic) c. a proper noun

1. Mohammed gave me a pen
(a. a common noun (example of a class
13) < alh lae] saaa ¢ (gf ¢))Adll) (e 3034 () )) i) o Jla dare s sapen <
A48l (ya 3334 aul (2 common noun (example of a class s2 < s

2. A pen is an instrument used for writing
(b. a common noun (generic
(a common noun (generic s sl 13 < JSaidl) N Jha Jara aul sapen <
ol

3. Khaled'’s car is new
(a. a common noun (example of a class
A 9 Adma b b Lada (gl (A4l e 3334 () )) 4ill) o Jla Jara and sacar <
44dl) (e 3334 2l @ common noun (example of a class s& < sadl 131 < A4 3 L

4. Khaled has a new car
C. a proper noun
ail) gaia sl @ proper noun s <l sal) 13) < Gpma paddd e 3 gy AAKhaled <

).l

5. Fruit is good for you
(b. acommon noun (generic



) < slaas AS) 5l Uiladi (s 4gSWEl £ g5 0 l) JSS 4l N Jla lane anid sAFruit <
.2 aul (a common noun (generic s& <l gadl 13

.Common nouns are usually found in nominal groups to help the speaker
say which particular example of a class he has in mind
Al Ll J 58 & Ciiatiall soludl dtan) Gle gaa (B 33 g Bale A4S jidal) slau)
LA e chd Al Al

:J ¥ JEal)
The students were waiting for the teacher

). idia aal)) B gl (udly g ((Aamsd 4e 3a24)) 2- The students
)i )) g s 5 (ke 1)) (- The
LIS @) day Lgbond 5 ((<DUa ((Students-4als o) ) « The 814¥) - <. Students
)) CUall)) ciapald (it J) ((The-51a¥)
\&JMH\UA@JAMUJAAJAUISALQ\UAUH\&MA& u..\ueldh-d\ \&uﬁ
4e ganal adaa g 4874 ciauald Students & The iy ail) 31a) Llsa) O Giaa
). Lk anif )) gl (il g ((4pam) 45 3a2a )) (A- the teacher
).t )) B gl iy g (e 3141)) A- The
LR &) aay Lghaat oF ((alea ((teacher-‘k-ds &) &) « The 313 o <l teacher
)).. e.b.d\ (cmpeald (i ai) O ((The-12¥)
u\munm\gn\\“&umu@ u.u.\!.d\ usumeldt.ul\mu.mu&
A3l g aleal oxiae g 4djas ciauald teacher uk- The iy xill 31a) Ll

;‘“,.a'lfd\ Sl
The teacher’s desk is new

))..J22a)) Liaal g ((Lsidia anl)) gl bl g ((‘\-wa\ 493»-4)) «*- The teacher’s
)) S )) < o) (udly 3)) iy 2l a\A\)) *-The
L) ) day Lglyaas ((alu ((teacher s-4alS () (o) « The 3131  clie. teacher’s
)) aleall ((comald (il I ((The- 313
LAsay) 4s ganall (I 2~ desk
, ~Jaall - The teacher’s
Ul raaid ¢ alnall 3 gt Al glall o A g 4dglall 4id aaas e Use b JUial) 12a-
.plaall
LA 2 g an) aad A Lo Lud; Ciy pecil) Blaf*
Proper nouns will not normally be modified this way. In other words,
modification differs between a common noun and a proper noun




Ayl 0l Lt (S Y Bale) alal) (Aaaall plan!
)..aladl) sl ant) g & idiall aud) Cp Alidy Jasil) ¢ g A0 3 jlay

Proper and common nouns((as well as pronouns))can refer to something:
a.animate
b.inanimate
D) il B ((laal) QIS g)) AS i) slawd) o) (alad)) Aasaial) ol
),_MM\-CUJ‘X'\) > f-g&-i
)..olilaall (A s g

a. Animate
Animate nouns refer to a person or animal
)5 (ASasial) -
WOles o) gaddi A jpdd A jalial) slawd
:Jla

Ahmed, friend, bird

)..0edd) saalAhmed <

)..oadd) (aafriend <

).l s (Lsbasbird <

b. Inanimate
Inanimate nouns refer to a place, thing or an idea
rabaadl- @
DS gl o gl e ) e sdalad) slen)
:Jla

Al-Ahsa, desk, air, freedom

)..(%e) slwa¥IAl-Ahsa <

)..84 (M sladesk <
)..84) $)gRair <

)..o88) 4y afreedom <

:Count vs. Mass Nouns
04 gana urdl A o2 gazall slaw)

..(Nouns can either be countable (count nouns) or uncountable (mass
nouns
)..08 garall slact) (S0 g 03 gina (9SS B olawt)-
"), ALK Mo gara il placd) (S godgima b GeSE A

Count nouns such as “friend” and “man” can be preceded by “one” and
may have a plural form such as “friends” and “men” which can be
preceded by a number higher than one
" aa) g "one-dalS J8 (e G 8" Ja ) "man-s" Gesa:"friend-diac 03 gazall slawd)-



ol ¢Sar g2 §" Jla "men- " sBaal:"friends-dia « gan dima Wl o8 O (S
L) g o S s gl

el (ol A
:gimls g;‘u 03 gaall glaw)
))..2084)) a9 oS < g dat-
)).&a2)) ly o A< 2 2-

man .44l xaal) 92 men s ¢ friend 4alS! aaadl g2 friends 13

:JUia
“two friends” and “ten men”
.O&ua-two friends
Ja, 8 <e-ten men

Lad g ¥ od ganall slaudU clalhas aa g 4 jalaiy) dall) o

aaadl - 3 a4l
Sl 9A agual two 2 B

(AN A g 03 gtrall plandl Cilathiaal) (ra 1681 ¥ 2 g8 4y jall 43l L

.Mass nouns such as “bread” and “milk” cannot be preceded by “one” and
do not have a plural form
O b O oSa Y™ cula "milk- 8" J:3:"bread-diac) sagiral) al) sleul) ALY
WA dda Al Y Lyl g M 2a) g "one-Aals J@

.Some nouns can be used as both count and mass nouns according to the
) speaker’s meaning
lid g o) g da o) ALS" 3 gdra 1o a9 390 anal(S Lgealadiind) Sy slanl) (amy

L Gasatall el

rJla
1. (Light travels faster than sound. (mass noun
Lo393ma i Light 4als ciela Uia
2. (There are two lights by his desk. (count noun
LAlaadl oda B 4y Jgrda Ciely lights 4alS g ¢ 03 9324 [ights dalS Ciely Lia
:Collective Nouns
)l ail) Ausland) slac)

.A collective noun is a singular word used to refer to a group
LA sana ) B LA addiid 53 80 AalS g4 Slaad) au)



:Jla
family, team, public
oukdll e 23 safamily <
walAdY) (4 4s garateam <
ARG (e 4 gara Laipublic <

A collective noun can be followed by a singular verb (e.g. is) or a plural
verb (e.g. are). It may be associated with a singular possessive form (its), or

a plural one
.(their) o
o (A8 (aad) Jady ghiis) JUall Jasau (A8 (2dall Jads ail o (Sa) (S laad) and)
:are)..Jual)

(their)..zeall 4Slal) disa ga ) (its) 2kall 4uslal) A pa lld (31 5 B g

1J ¥ JEa)
1. Our team is the best
Our team are the best

Qe Lad S are <= 0 a9 S = 0 e LS LiCay (Giluad) Jlial) (2 Alaal)-
:gjlﬂ\ JEal)
2. Ahmed’s family moved to its new home
Ahmed’s family moved to their new home

e LaadS their < = 0 ey its = o e LgilS LiiSay gibaad) JUiall 8 dlagli-

sosaSal) L8 ads gater
o) Ay 5 Y15 2 kel Fig Laban) (1555 ing 135 (il oS5 iy L s
).. e 9 ke Lal) drsall M55 ) g ) uddl

Note: It is reasonable to be consistent when using collective nouns as
either singular or plural. In American English, they are frequently singular,

while they are
.more frequently plural in British English
4 JaaMa*
dasay g 3 jial) dasay L) 4831 gia (4S5 O Apelaad) slawd) alading die Jghaal) (pa-
WLl

L olall dipay 0985 LAY e S (B A saY) 4 JalatY) dal) A
Ay sl A SalaiN) dadl) A caad) dias 01985 (oY) ST Ll G (A
Exercise

:Decide whether the following NPs can be followed by



a. a singular verb b. a plural verb c. both are possible

1. Ahmed'’s young brother
a. a singular verb
: Ahmed’s young brother isds&i ¢ (Saall
: Ahmed’s young brother are Js&i ¢ Wiy ¥ ¢!
(a 2lsad 13 < gan and sl 9 3540 aul (20a) 53 (Ahmed’s young brother-¥
k8 (Ahmed’s young brother) s 3,8a J2d 48L&l cSassingular verb)

2. his family
c. both are possible
: his family isdsii o) (Saal) (e
: his family are Jsii ¢ LiSay 4
Jab 4éLa) ¢<ay (both are possible) < sal 131 < gax anil (4ilile (his family-c¥
(his family) .4l o e J2d 9 384

3. juice
a. a singular verb
 juice isdsii &) (Saal) (e
: juice are Js&i ¢ Wisay ¥ (<l
(a singular o sad) 131 < 3 gda am) (ud " ALS"3 gara & andd (e (juice-C¥
L8 (juice) Aals o 3,da Jab ALl (Sasverh)

4. the company
c. both are possible
: the company isdsii &) (Saal) (e
: the company are Jsi o)) WiSayg
ALl ¢<a (both are possible) sl 13 < gas aud (45,4 (the company-c¥
(the company) ..4alS o gax Jab g3 80 Jab

5. men
b. a plural verb
: men ared & &) (Saall (e
: men isdodi &) LiSay ¥ (sl
Ads o aan Jab A8La) (Say (a plural verb) o sad) 131 < aan disa (Jlay (men-c¥
ol ) ad g e Ada AY 3 jia Jad Ciudal (f Uiy Y g Laid(men)



~m AN 5 jualaall

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a
head and one or more modifiers

LA B palaall 8 Wl Sh AN ciall Ge duaatiin § palaal) sda
Ll lad) oo Uhaad Ladie WL 83 caeal) g-
i (e SIS gl dal g Jarag aalg Mol ) e g gt B e IS o L Sa

:Modifiers can be divided into two groups
1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head

O ) (0 gana () andli S 2l
Lol 38 Al AN a9 > 43ldl e salil- Pre-modifiers
ool AU AN A g > il e aeali2- Post- modifiers
.. ( Take a look at the following noun phrases ( NPs

sl A e a9l cilay AN Jgand) Ga glaa o gl o ¥ (W) da il )y A
. Liads)

300 (NPs ) dgan) i bl e 55085 3l

;Y Jhall A
a good friend

friend.se (i -
.4d b friend awdd L8 J3a sla 43 5} Pre-modifiers s\ sa good s Jaxal) s-
friend .48 | sl good 9 a 13-
e M a " friend-oal ) Ulea f ¢ led s Basa 4 g friend oo Ll
".1a " a good- 4l sy Alal

:ga'lﬂ\ JEad) gﬂ
my school friends

friends sa ol -
friend audd L3 Jaa sla 43 ) Pre-modifiers sla s my school st Jixall s-
Ry’
friends..4S | st3e school s my 13-



Smy (ilazal) Ui Ladie o<t g celBaal éi o) (as o) a2 friends dals.

) s a) A yaal) Cpa *\ Laag\ g ui galﬁm\ *\ o Ay & éléschool
school s my (pBlal cpilaal) oda JNA e Al sra " friends” (il Ulea 13-

S JEA gﬁ
the headmaster of the school

w3 Jia g 18 Jara Ugal Ua.
headmaster ..4sls! Jaa isla of the school » ksl /
the 311 &) (sl Lia 48 e au) J2a e seluy headmaster (il Jua 94 the 13-
.. 48 g alaa headmaster aw¥) o Ll Laic
(e headmaster ) Jsdil Cias headmaster (i) culea iy 25 303) 8- The
9 Gl e M 48 ay 53 g (pma headmaster J: headmasters) ) JS o)
Al ¢a e 290 headmaster 31 Ol s 9 aaiesal)
. 2l Jaa (headmaster) I Jaa Lyl of the school ) Jurall-
LA duiad e s the headmaster of JiSh JSdu Uaas 131

el QU A
the headmaster’s desk

/ desk .5 oal -
LOmld cplaa Isla g headmaster’s s the La Gudaaal) o
A5 el Ligh: the headmaster’'s Js&i Laxie oS! (Al gl (ol A udy 38 desk ol t-
ALl e a5 ) Adlaia)
cauald « headmaster -1 &iia el ) p3AA4 g dduma Adglha ce LA Gidadi ol JaI.
) .. sl A gs((the headmaster’s desk- /
(desk)..awd Adlaial) jpaa o Ui lu JEiad) 138 cﬁ Sanal) 131

s el Ad) JE) gﬁ
several students

students .. 4zac) o baall 03 A (Ll Sl
Cra SN Y g ¢ Atlall JS (3 puallal) ¢ studentsuaad Je Laclu several Jaal) -
W p2r B ¢ dglhal) )
WOt 5l Iaia gl 4gaS Uitk ] JUial) 138 8 Jaral) 138 13

:wJLuJ\ du—d\ ‘“,é
we all

oaally Adlaiall @Mﬂbw‘;ﬁﬂ‘i&ndgdtbﬁi OSaall (pa-
: we allJia-
LJoMa sh- We <



wgi Jia U sla g Jual) sa- gl <
wopeally (alalal) (g e ds gana dpand 124 5

raabad) Jhal) 3
everyone in our class

.oseall ga- everyone <
i J2a Sela g0 e (A~ in our class <
o oaally alaiall (o e de gana Liag) dpand 130 5
- When the head is a noun, modifiers usually precede it
- Phrase like “of the school” follow it
- When the head is a pronoun, modifiers normally follow it

head .- J 0 (o Alaad Sale " iV anal) "8) acal™ (Ll 1) "¢y 0S5 Ladis

G Lié: (of the school - in our class) Jia <) <l e (Yinad) (68 Ladie o<1 g*
ol b e ina™ cuils 13 el e " Gl @l (oul) sa AN At amy e
"head" ..d) &=Phrases

head .. axy 4 (of 4ai Sale " il anall ") jaaz" (Lal ) 088y Ladis ¢*
rAB L) AiaY) 8 U 83 LaS
JUall 3y (S 54 g someone in our school (G JUia J& g Jadli ) gisal) Lia
LT s S Adaad) el S (4 (S severyone in our class

o 13« "head" sla L jpadal) g jracall dry (Al Lgad" ¥ anal) ") Badl we all f
. Aot SN e

:Pre-modifiers in the previous examples include the following main classes

of words

1. Adjectives
e.g.>> good

2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

Al Clalsll s () Clidl) Jads ASilod) ALiaY) 8 4,080 Caall*

A ) glaadin 4y el il ganall 5 Apacd) @l jladl Gibad) Jgand) ) 1 ghad 130 13
) Jsand) 8 AT L83 Al AL e arall La guad e j381) S (e dae Ll

Jrciliall ) AgY) 4asdlif-
._w‘ CNM\ C)A M ¢ gOOdd:A c"f-l.Au\ J.\aﬁ Q&m"




):9Lw\1l ) Al 4sd2.

ALY ) e Bl 5 AT plawd S plamd”
my school friendsalax (& school 4als: s
sl 9 5 sl Lyl friends s al- school
friends ol A1 Ji= school aw) Ligs

):caldaakl) ) ABIEY AdaN3.
DB 20y Jualilly Glassal) (F8ELL g < 3, the, my Jie
:Exercise
:In the following phrases, decide which of the underlined words is
a. the head
b. a post- modifiers
c. a pre-modifiers

1. a big store
a. the head

~ul A sa- store
o1 @R-a
LAda A- big
big .92 ted 5 Cularas Bus store oul Y-
a. the head & _LidY) 13l

2. the store manager
c. a pre-modifiers

manager .. 8 sl
manager of (& &aali Y manager s ol ) (& agda saal g cilals ¥ Ua Ljal
the store ..
manager .- 48 Jia 34 g manager 4alS Jx=- store
.ol Layl 5 aal manager s a!- store
c. a pre-modifiers s JLEAY) 13 ¢ and) 38 b LAY Jaral) 5 AT s oo an

3. the leader of the group
b. a post- modifiers

ol Sl il gl Ua a3 g (of the group) i) Ja ghaiall.
/ LA e iaati Ua WY ¢ Gul N sa- the leader
3 1)) ¢( W the leader dalS 2y g1 ) sy 54 5 the leader J»- of the group
(the leader) ..ol By Al g0y Jana
the leader of the Jsii Laxic (<1 g 119)3Le 28 Ua i a3 ¥ the leader Js&i Lasind.
) .M 2il8) 48 e ddlaia) (e 335 Uigdgroup



(the leader of the group - 431 s& § ¢yra 58 3B LS o Laslu Jaral) Ua 13
). Adira 4 gana 2ild
b. a post- modifiers & LAY ¢ 523 Jaa sa- of the group

4. the group leader
c. a pre-modifiers

il sa- leader
b Jama g 13 ) 3 sla Ll 5 Jaral) 2- the
Lyl Jua sa- group
c. a pre-modifiers & _LIiY)-

5. someone in my office
a. the head

e e ool gad Jhal) 120 A
) £ A La 2ai someone ( (& plsii-

b 3 (in my office ) sasaas s 8kay &5 By s a5 (i s2- Someone

L Jaza
aie (b (3aud sland¥) dlld Jolha g dgany ¥y o jiladall Sale 4df L83 LS 5

LAald ey ualy
a. the head s» _LaaY! 13-
Determiners

:Determiners are word which specify the range of reference of a noun by
making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):cilaaaall Determiners (H) (A Enaally 3 gria oY)

§ Slasaal) 4 L
4&@&)&0& seuﬁ&)—dj\ @A ..\;\ASQ\.ASSOQBJL.\G‘;AQ\}M\

Wi o) Jaag 3813 Cifald-
@b ol cddae Cifah JUad) 138 Juad LB (cliSlf) gk Lesic Uig «: the book Jie
QLS 138 3 gay 1ila o fgalay g 40 galey Cadatiall g adional) O Eua o(liSlf) gy qulis

Wi aud) Jaag B): g ) cidas #2-
( He bought 4uilil) 4laad) 2 Uigs (U< (o) ) sy 28 (LLiS) 4alS 1) ¢; @ book Jie



LS ) LUs( @ book- 4als uid s3 book)

Jla i ol Aaas L) 1 i an) Jang Br )ake ) AsaS ) ) jadial.
: many books Jis
many .. Ua )
books ..s La au)-
LSl (ha ddima daS (e 0 S8 waat L Lselu 3 many 2aaall.
LSl (e i (S g Sl Cpa JAIB sl
Determiners can be either identifiers or quantifiers

1. identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include

:a. Articles
(al an (indefinite articles
(the (definite articles

:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their

2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

o il ) caasal) andi (W13 ¢ c AT Gpand ) cilidaal) sl ¢f Loy WiSe
e s )
) L il &l gal) Q@;ﬁﬁ\ S8 AN As ganall]-
Agasll 9328k o1 4l A ganall2-



LA (S (cldaall) e cad Liag) cilid ) AL 1 gY) A ganall®
): i i) < ga) cild jaali]-

) Adlgs ¥ La ) gl ) Cidad —adah (A Cuaadial) sdualy 5 Al OAS 13) La U i
)20
J&J‘JJMJAJ&OJSJ&.\J\PHY\&JMHM‘ B 1le A (e i jrie U 13
LAda

el il jadl)
;<) 9a¥)- Articles |
231 Lglas g (A mll AR B 0 g5iS Lab) Jp i o U131 ound La @15l 2 af an:
3131 agd) Joi 1) La (gl 4B an 9 3 jia Ad) Cuag ac) 1335 Lagdl 4y juladY)
Al g 3 A3 Uy b4 S Lty 81 ) ) (580 Y ¥ 5 IS iy 5
iy g 31a*the :
) ..&lasaali(Determiners — ) <iad Articles als JSds ¢St

;0 L&) slawl- Demonstratives <
JA] Gaaaial) yudy La agd B Uaelud 4ddl) oda
AdSa ) o LaY) g e daaty ) and) a8 e aaad 8 Giaatial) aolud 4ddlf oa 1)
Bl
LA CcoLE LEl Gua e and) aaad e Uiy Laelu ¢ This screen Ji
LB sl o) oA sl L) o LAY sland pdi o) Ll ¢Saall (e
raly ol AU £ AN 1A (S gl s e L) Cluag (8 o LAY slaad aladia W (Sas-
W

SAlaall 4slal) dava JSi) - Possessive Forms of Personal pronouns =
LEV-E WA
LAsslal) ez g sladall 0db G G A () dalay atil
> mine, yours, hers, his, its, ours, theirs4sSlall jilad dia.
> my, your, his, her, its, our, theiriz<idll 4slall jiles daya
13y Ll cua) e¥axa (modifiers Ll uul.u‘ = hial daaddll yladall 4Stal daua
ALaiaY) e 345 U sl o U]
i My book Jsii Laxiad
) g ES) (A A g Gara QS Jy QLS (o) La Aad Y
.JaMy - > modifier
..>«lbook - > noun

rdsaSl) §33842.
Wl gl el dhaa i gl Sdaa an) OIS () La U i

i Jadl dpasl) o324
ey -
LAl 0 o be A g): Alall) dpalul) das i




: one. Two, three... Jia
A (L) caal g

WG A O8 0Ls (A g A A s
: first, second, third...Js
LG Ll Y

Glalse @
: much, many, each, every, a few, little, all, several, plenty Jie
Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstrative s <l sall 13) ¢ ¢faa exercise (i) <Ll This 4alS Lia

2. Their friend is here
C. possessive

(N C e ) L pag oo B S8 dalS)) o Liikaef 38 Uia g ¢ yrana Their 4als

. pflada
C. possessive st olsadd ¢ (add jadal 4l b (2 13)

3.The visitor came early
a. article

a. articlesd ol sadl 130 ¢ iy 23 3130 AThe

4. Many people watch the show every week
d. quantifier

B sl JS SN ¢y ganliy Cpdl) ulil) (e Alma 43aS ¢ 0 S8 Litke | Many 4als
LAasl) Bk A 1) ¢ La A3aS o 0 S8 Like | Many 4als 131



d. quantifierss <l salé

5. These sentences are interesting
b. demonstrative

b. demonstrative s& <) sadl 13) ¢ ¢gra and M) o L&) AThese

Person, Number and Gender

:Person

Nouns can be

.(personal (humans

.(or non-personal (animals and inanimate objects

Note: Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

rouiadl £ g3 g sy g "Uad AN 38l e ga g calida £ gdaga ) oY) Sl

" el Al 3 i)
reland) (988 O Saal) (e

i > Auadl

JClilaa g i) gaa > duadd e

1ad3 gala

dial) Ao JaBd 3 gat LY ¢ Adad) sl () o< JaBd Aad i) plandl*
10885 Of La) dsadlds 43l slaadyi*

LU gaadl ) add Ladie > Anal) Gl

Gldlaad) ) judd Ladie > daa ) cliilstl

We can also use the term “person” in a different way

:Traditionally, personal pronouns differentiate between
- (the person speaking (first person
- (the person spoken to (second person
- (and the people or things spoken about (third person



1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they

14dlide 48y b, (Person) gellawas aladiu) Ly Uiy
). dpadiid) yilaial) (8 pllaaal) 138 () gadiiny (o sadll Bals

(O B Apadldl) jilal)

) WJs¥) ikl o A g Gt padldll
) Al ikl Sy s g Al GAATAY Lad il
) L Gkl e A g (e GAAIA) Lgde Galal) pludy) gl (il

-, Wedeads Js¥) ikl yilad®
: you Jadd (AU Ciphall ilaca®
: he, she, it, they Jads GGl i jhal) jilac®
:Number

.Singular (number) or plural (number) affects the form of almost all count
nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(I, you, he, she, it (singular
(We, you, they (plural

:Demonstratives

(this, that (singular
(these, those (plural

):alasiyl) e Au) JEiiu oA AU £ gia gall



r0eSh a8 s

LAda e

)_.g,\SJA .A.AG) o

~03 girall plant) ) alinal JSAI) o i Lgild pan o) 3 jda CLilS £) g SlacY) o2
)..o L&Y Lo ilaall

o (o LaN) slawl- yiladall-od garall placdl) ) JS&Y) calacy) o falais) 13)

AdUS ) JISEY) sl e AdiaY) (lann MALLLH

r e 00 ganal) glacdii-

.aastudents > « 2 dsstudent >

.&aamen > « 3 4aman >

JaGh e lgle i sagamall slac) 131 calae S a0 pland) of BadU Lin

L da singularhﬁ ST )adist)on gara ) sl Lol

.2 Aa: water, rice > Jis

O AU 23 gana sl lac) 13 ¢ i al gl o e i) pland) of Jaadli Uia
gl e e Sy g aka sl laey)

rJia ¢ ilaal)2-

3,44], you, he, she, it >

xaWe, you, they >

wel ) ad La g ao8all ) i L G Gaall) el elif 2Sal) (e

Jgled i e Lgde fh jitadall 1)) calae S o i jiladall o Badli Lia

rFia so LY plaw3-

2 _dsthis, that >

tathese, those >

NeY Lgde 550 o LY slad 131 calaeSU lag 43 o JLEN) slacd oo Liag) Jaad Ui
1 iSS :. ;‘fﬁa

Whether the subject is 1st person, 2nd person or 3rd person; and whether it
is singular or plural can affect the form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject

(I walk home everyday. (1st person singular subject



(They walk home everyday. (3rd person singular subject

) AR g sl dde i 3B Jad) (S
JS& o Jisy 38) 3jia gl pan (La) 08 Ladis g) Culliapling gl) cipha Jeldll ¢ 98 Ladie
LJadl)
:Jla
1- He walks home everyday

).l S e gl g (Ui ianlh ik saHe <

: walks..zsasd « walk Jadll e (s) csdain 13
Ce ke Gl Gl 13 o g G Gl e dug.d\‘u)d\yt Jadl) L (s)
) i -Jel(

2- | walk home everyday

)8l ik B | o Jadll g8 o iy ol U (Jetieshand ) i bl <
walk ..Jadl) o (s) ciucai ¥ 13
) s g3 iall Jolil) il G plall dadle ddelil ciual Y 3 ial) Joldl) J4¥) il b
(s) ..

3- They walk home everyday

S (5) il ol Gl il e I3 They of ¢r pf b (JolB-gan-culll G kThey <
) .Jhall 138 A aaa They ¥ walk Jadl
walk .. a8l e (s) i ¥ 1)
oA g ajiall Jolil) EEl Gkl Aadle Aleldl Gl Y aand) Jelal) Cullil) k) A
(s) ..

Lad) 2 dlf) paddil) g aand) O Gupnns OIS 138 9 Jadl) iy ol (Y9 (2 Cdlially Zaad¥
Ll e ol E o)t
Mau.xsyy\zm‘ Jol il adg 4St ) 3 jia-(Jo b (43 qana ()1 Jhal b
M\UJGJJJJYM\‘&u@ghﬂg)dﬁa-dbu)h(b\C_\M(?’)J\dl.ul\uﬁ
:Gender

:The 3rd person singular form of personal pronouns can be affected by
gender as follows
1. The masculine pronouns “he” refers to males

2. The feminine pronouns “she” refers to females

3. The neuter pronouns “it” refers to inanimate objects, or to a person or
animal not yet regarded as male or female



("?e.g.>> (“Who is it
)iomiall £ 5i) 5p ) £ gua gall
All) £ g (uial) £ o gale 5% o dadldl) jilacall 8 jial) Gl G phat) JSi

Sl ysacallf-
W05SY) e agh: He < Jia

Euigall jramall2-
L) e 3523 She < Jie

Llaal) jaall3-
1S A9 It < Ja

il
e Aﬁgj#ﬁiw\géltoy) P+ N IS W LYR] %Yo\ﬁjiuﬂ
)ooial £ 58 iRl (i b Ak S Cppia

o aall ppadal) addiad Cuiga gl S3a ¢l gaad) g padldd) IS 13 et Y cuiS |3
3P RTCIAXEN
: “? Who is it” ..J s Sle Gl e aaf 5k Lada
13 < A0 g) 3 Gl 13 La ket W ST g Qi) (8 ey aa an g 4d] i e i Lia
‘ person . yagady
adind (o)) Saall (a9 cAra plaall ppadal) ardid 3alad gnimal A ga gady Ll
. Asaada Cla A (S g Ara S3all g duigall jilaa
The distinction between male and female may affect our choice of lexical
items (words or phrases) that could fill a “slot” in the structure of a clause

Man, headmaster, woman, actress

e.g.>> 1. He is a good
Man and headmaster can fill the slot in example 1

e.g.>> 2. She is a good
Woman and actress can fill the slot in example 2

Clals" (i jial) pualic™ dranaal) 350l U LA o g a8 AN g SN o (3 81
cadaad) masa ety ARG L ) cl e
(words or phrases) ..ce o ke (A" lexical items
G (Al o biadl g AalSl) St g Ml o)) g (BN 138 (LB LAl (S 1) Alapd) Ly B
LS g il agde i 8 (30 dd A o




s aalll) cilalsl) Waad
Jauman <
sheadmaster <
si_salwoman <
aliwagctress <

P g QL)
He is a good

LARLL) Any Y1 plac) (e § N B A Slad o a3 1M G U B U aa g
50553 o olagay Gland) (ylda u‘i £1,80 (e ‘,e headmaster s Man aaiicd a8
Olpalia lan) 13 g8 o 3 gy suaia(He)

930 Sha (He) 5 &byl o 2525 LY actress 9 woman addiud of aabaiud ¥ o8
0 AL planl o

| Jeial)
She is a good

LARLL) Any Y1 plact) (e £ BN (gAY A Slad o a3 1M B B L aa g

Y 5 S e aga Glan) 013 Y 1 (e (B actress g woman adiud 4

WOkbia la) 13 ¢ &Y de 3 gay smaa(She)
slacd) o 3923 &ii'sa (She) O §108N 2 headmaster s Man awd) aladic) (Say Y
) riibe S3) uiadl Gl Ao dnisall pland) Allaial (e JIES 4 g 4digall
:Note 1
The suffix “-ess” is found in a number of words referring to women, but
there are other words referring to women that do not have this suffix
e.g.>> aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>> friend, neighbor, cousin, teacher, nurse

rl galall (pamy Ui Lial*
s oY) 4B salall

: actress , empress Jia calSll AT ) GiLad A Ja g ( -ess) 48U
o sladl) ) S AN clalSl) e 23e 8 aa g5 48a3U) o3a
il danadie 1Y jSiall Lgd g adly La oy ghal el Walina empress << 4alS
wril daadia LgiY Shall Lgd 685 adiy La aliea Wliza actress << 4alS g

;dh‘mmammy”w\usgwawam RS
LAA Cdaequnt <€

Wil ey ¢ i ediniece <



LA 1nun <
AUl 433 galall

Ay gad) ARl Gulaa 138 g claa LYY 5 sSA o 3 gad Ay sulady) A3l B plan) alina
rfia caudl Guial) £ g aaad o Wile Gy Al Eua
LAbla ¢ Gafriend <
.ok « Jlaneighbor <
) LANS = das) ALyl ¢ (U — a2) A ¢ (A4 — das) Gl (A — a2) Clcousin <
.Aalza ¢ alaateacher <
WA paa ¢ @ paanurse <
LYY 5 sSAl e 8 gt 4y Salay) 43l 8 elend) o2a JS

GMQ&\&JJJJS\MQA‘JJA#\QAg@bﬁmejyoy\%ﬂ\ C\J‘;ﬂ‘
.. Lads)

= Jadall rada J oY d)ﬂ\@é\\g*
= wegeall e Jg¥) ikl & adl g
JM‘:yOUJ‘)M\Mng\ d)hl\géé\j‘
el = you panll e U Gkl 8 aB) g
= hedall JSiall e EIEY Gijphll 8 aB)
= she_dall Euigall jrada GG (hal) ‘éﬁ é\g
= jtadad) qM\W&&\dﬂ\gﬁéU
= theyzeal)) Slaall-duigalle Siall) jrada GEN Cihll A adl g
:Exercise

:Choose the appropriate pronoun

1. 1st person plural pronoun
a. he
b. we
c. they
d. you

WJoY) il B aBlg pas ppad w
Lo gax Gud he 5 (02) 033 4
"Lk A g Al Ada el ) JESE A caen agaen you s they swe
¢k i h-gaayou <
b. we st lsadl 131 ¢ Jg) i lh-zaswe <

2. 3rd person singular masculine pronoun
a. they



b. it
c.you
d. he

LA A S RV P - PR PRSI IRTRY
oMbl @m‘ d#‘ ‘;A 63\3 Jsaayou <
") U g Al Ads gal) ) JEIES Y (LAY Al 8 agaies he it sthey
. ozl 1) can Adsl g Gl ylal) gA é\j saathey <
ALY ads yal) ) JEEE 13 63 e LaaDIS Liagl g Gl el B ad) g Laad\S he < it
5 n "M‘ &‘y' ll"-"z~9
Lot 1) cdilae 43819 3 HEa g CulY) d)m‘géé‘JJ,Mit<
d. he st ol gadl 130 ¢ Sia g2 5 2 jda g SN Cijhal) 8 ol jiache <

3. 2nd person singular pronoun
a.you
b. |
c. we
d. she

g—lm\u#\gﬂébdﬂ‘»ub*}
ehéa.f.’\m.'t kY] cdjy‘ d#\édb)ﬂubwe<3l
Lot 13) ¢ SN Cahal) B a8l g siadaghe <
a. you sd o o) 13 ¢ 3 8a ga g ALY il 8 a8l g asyou <

What is a clause?

A complete sentence needs at least one finite, independent clause. A
simple sentence is composed of only one finite clause, so that the

structure of a finite clause is identical with that of a simple sentence.
s jlall ) o 8ll" clause J a2 2 L

finite’ —aaldie) e aldioig 9 534 o yad ) ‘_AQ Jay) ‘_,Js CU;S allS alaa <
..(independent clause
alfiee 5 o3daa ot o JBY) o g siad () Y alaiSa 4y 5aladV) 4alll 8 alead) aail
L aglaic) e alflie geddas s i (e ST e (ogiad 285" ¢ saal g aplaic) e
gk ) It shows time, person and number s "3334" finjte AlS ac*

AL (63 2ay Jaatlly Gl ) (5 i (2] 5 30 4 (o3

That it can occur own its own as s "gilicl ne" independent 4elS Jiac*
(S Lo jhey Gaad o) (S ANl & 6 ) a sentence



He is a student who likes to study hard /Jb«-

Meaal g0 e 5l o )38 - one clause "4 >> He is a student

Gaand o Sy 43Y ¢ "aliie g) 4plaic) e - independent” (& S8l el
o) e
"oaalgo e a8 - one clause " & >> who likes to study hard
¢ "aulaic) - dependent” & <l bl g
. Aleal) el 4t i 2 (e 5 (who likes to study hard) Jsii o galaias ¥ 43y

e & Jo Aliiee alaa o585 O Sy Y 43l (51) asgiall 5 il AlaiSa e alead) (Y-
. (Anlaic)

Ay alan — adag alaa ) 1d8 (e Jadll o1l LGBU Ll () 5 S35 LeS "adaguall aleall *
__(ods.a..o‘tla;—

.. kaé a4 finite clause o s 5T adasall aleall-

I g Lo o prias g bl aleadl U il Jaii ¢ finjte I e Lo <o yad of 2 5 Ladind

.finite
finite clause = one simple sentence”
Here are some examples of one-clause sentences:
1. | have just telephoned Mohammed.
2. He was my best friend.
3. This is his photograph.
4. At nine o’clock, we all gathered in the classroom.

5. He always does his work perfectly.

| have just telephoned Mohammed /) JG-
"subject — Jel@ll" >> |

" verbal group - 428 4c saae " >> telephoned s have



[Om g just S
" helping verb - xlus J=8" >> pgye
" main verb - sl 22 " >> telephoned

(alan A Bl Ladiy 5oaal 50 jle Ligh - jt is one clause and it is a sentence) -

He was my best friend/Y Jt-
"subject — JeWl" >> He
"verb — J=&l" >> was
oaden o8 gl iy geaal e e A T3
This is his photograph /Y J%s-
"subject — lxin" >> This
"verb — J=dll" >> js
oalen & B iy geaalg e sl o 13-
At nine o’clock, we all gathered in the classroom /£Jts-
" subject — lxie " 45" pronominal group — 4 4c saxe " 54 >> we all
"verb — J=dI" >> gathered
oaden oo gl iy geaal e e A T3
He always does his work perfectly /©JG-
"subject — JeWl" >> He
"verb — J=d" >> does
oales & gl geaad g ol oa 13 ¢ Layl aal s Jad g aal s Jeld Lial

Each of these one-clause sentences has a subject and a predicate. The
predicate is what is said about the subject.

:&g#@\o&wb‘)ﬁéds*



"lxiwe ) Jeld" subject-
") 2" predicate s
. deldl e &t W predicate -
He always does his work perfectly ;o= Jiall A& Jls
"subject — JeWl" >> He

) 4] s — predicate" s s2x L JS >> always does his work perfectly-
M Jaill Jady predicate A o) " Laay) Jadll Jeis 5" He Jeldl 1 die

At nine o’clock, we all gathered in the classroom gl JEdll
" subject — lxiw " >> we all
" we all Il I dis gl 44) die — predicate” >> s Jiall e G5 L S
predicate 4l (s > s (At nine o’clock) 13-
predicate ) (e ¢ 3» Ll s» (gathered in the classroom) s
predicate 4l (s ¢ > Ladl s (gathered) Jadl

If either of those two parts, subject or predicate, were missing, the
sentence would not be complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or
persons spoken to. The previous sentence can be expanded as follows:

You go study.
. Alei€a muai ()] alealld 2 53a (predicate s subject) owall aal (IS 13-
. (predicate s subject)d) 2 sa s (e Y 4LalS alea B ) 131 131

g s ) Ol ) (sSs bale Jelills eV Hipa B ol cllin (81
..(unstated



Lol WSy 5 aloall 3 13 53 go dasgde iy 450 5 alsis ¥ 5 Jeldll S Y s Ta
Lal Jelall Jzad aleall (expand — g 53)

1l Jan e
o 4l apea Liaa alaall 22 >> Go study
Y o palaall b <3 >> 0 oa Jaall &\}ﬁ O S
Statement -
Question -Y
Imperative Lay e §>> Command -Y
Exclamation -¢

Jaall ¢15 (e & 53 58 Command sl Imperative 13-
which normally we don't states the subject in - L Jelill 7 juai 3ale il 5)

Nl
..(that it means you -l elisy 431) << (assume -l yidl) WiSay oS -
Lol a3 geatal) (o) alricd 3 gite Jelll OIS 1A e
1 JUlS (expanded — duaiilly alSii ale3) o) WiSay i) JE) i
You go study < J s

) Go study < J st Jadé ¢ gﬂlhd)ﬁ\ﬁo&oid\‘éjgﬁjdc\.ﬂ\ﬁ& >> You
..Set down ! Stand up

oY) Arpa A Jeldl) S Y o T
The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:
NP (subject)+ VP (predicate)

The man bought a new car

B O8N LS ge"dan) alaas 40d" 4gaul o jle s clause I 2 il ) Jeldll-
.. dgmﬁ.d\.a WY\ b)\_.ud\ sl Wl mt.,.d\ C'.}\)m\;a&\



o_le e predicate 4 JS 131 ¢"aglad alaa 403" 4lad o je 54 predicate J) s

Al 4pulu¥) sac il ais finite clause JSs -
NP (subject)+ VP (predicate)
i) 5 Jeldll 585 NP-

il A Jeldl) ) i) a5 VP-

The man bought a new car:Jull Juall & LS

o Agaul o jlie () NP 52 il (udiy 5 Jeldl 54 >> The man-

&) VP & B4l uaty 5" The man" Jelll Ll yiue 94 >> bought a new car-
L oAslad ol

s oleladia) A yp*
.. JSS "predicate — 43l 2wl e Eaadll a8
."verbal group — al=dl) Gle ganall" e Chasill UL JPRENI: B

.. JSS "predicate — 4l diwall" e st slieadind Jial s dé-

43l=dll o jL=ll The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.

More often, the VP consists of a group of words (verbal group) with a
finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ "aaladl) aleal) aniMaddedl) 5 jlall e il gaall (aey 2l
..(what the verb phrase consists of ? - f4lzill o jluall 4ia () S5 (5311 L)

.. k& 2l g finite verb e s s~y >> VP-



DS iy B VP -
verbal group - one finite verb ! -
We all waited : &l JEall & LS-
"asa - finite" s Ly 5 Jaill @ >> waited
P8 2 finite Sae o8 Lo oS J g8 5
.finite verb — 334 J=8" e (s gia3 "verbal group - 4dxdll 4c genall" -

J) LSS Ladie (55 SN cauledll 4e ganall "the head — (ul Q1" s 33341 Jadl) Ua -
..J# (= head

: verbal group I 4 13 -
.. finite verb ) 4.4y & head !
.. (clause ' & s!) 44 finite verb 25> (s Y 33a4 clause ) zuad 13-
.. finite clause L 5Ss O cang 4ali alaa ) 13-

.. finite verb i oS of s finite clause <o) 13-

The verb can be either:
1. Simple
A simple verb consists of one word.
e.g. is, was, walked, sat, did
2. Complex

A complex verb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

dag oY Jayisy =) Teayl (S a8 Jadl)

Ja..g.u,ﬂ\-\



.. ah\jwsgsa‘)l__xc ln.\.uuh M\-
is, was, walked, sat, did /Jis-

Cadaadl JledY Lerans LIS o8 -

daxall =Y
()5 dad e SST (5)) Adlad A sane (e o e daall Jadll
have telephoned, were placed, were waiting, did not like, could see /Jis-
A bl dad — da 3581 — aelie Jad il agladll Cile senall 038 Ligd-
have telephoned -
2elus =8 >> have
bl J=é >> telephoned

! (full verb) s 5 AT aas (main verb) (eula¥! Jadl) aws o) LicUainly 5
. &l Jadll

were placed -
e lue J=é >> were
=Ll J28 >> placed
were waiting-
e lua J28 >> were
=l J28 >>waiting
did not like-
aebia J28 >> did
bl J28 >> [ike
4led 4c ganal (S e J28 4 >> did not like-

could see-



2elus J2é >> could
bl a8 >> see
s3das yaall A w33aill J=8YIFinite vs. Non-finite ((Verbs)):
Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
He is here. They are here. (person and number)
He is here today. He was here yesterday. (tense)
1032 al) JadY) oy g
Lol g3l g el W o ) el
1058 3B Cuny a3l Al e oddadl) JdY) e f3) 8-
Jafisa - & Jbaa - =k -
T JUNGUONFE IRER
G Y PO U S PG I
D OsS B Cua e el Aals g
g e
LAl Jrdl) e Jle sa a0l Jaall b (435580 Jad) “he” Jadll*
1058 3 (be) Jrdll o << 4uils dasla ) giSall J g8 *¥**
is, are, am, was, were
past participle << been L ;
radsal) Jadll o JUaS 45538 Jad 5 (o aleall 38 i (5 i
. is 435Sl Jad 3L T3 ¢ Gl Gl a5 2 58e Jeldll >> He s here-
.. are 435Sl =8 22010 ¢ B Gyl a5 aes Jeldl >> They are here-

-+ lland) b Jolill saal) 5 il Uyt WY a5 (be) 4350 Jad of Ua B -



.. finite verb sed 2axdl 52,8l e Taldiel Jadll s 131
. is goal 43538l Jad 5 pualall (e 8 4leall s24>> He s here today-

el 435Sl Jad 5 bl (e ) 8 4laal) 228 >> He was here yesterday -
..was

Lol B ie alia¥) e Adlal) oda A
Ll 5l el ade %) S finite verb I -
Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak
2. 3 person singular form of the verb
e.g. walks, talks, drinks, speaks
3. The simple past form of the verb
e.g. walked, talked, drank, spoke
o) 5 ¥ L sadadl) Jlady)-
. Jall (dasead) JSAEH) ) JREY -
o LS Jadl) L ((—ing s s —ed 0% 1) lilaal ¢y s Jadl ga 131
walk, talk, drink, speak /Jie-
L =il Lol o ) S8 e alial Sl s2a S -
Dl 3 el A o lal) Raa =Y
o (5) s 2l Gl Caylall Aedle 4l Cilima Jadll () sSou Uia-
walks zaai << walk /Jie

b G Ll 8 Bl s 3 Jeld Ll (35S Lavie Jadll e (5) 4edlall 038 Cinnipe

talks =i << talk



drinks zu<ai << drink
speaks zu<ai << speak
dadll bl sl dapa oY

105y a8 Jaall u\u):uﬁ\a_mac_\ﬂhj_

Ltie e - b
—ed 4 Laal >> walked << walk /Jie-
—ed 4 Lazn) >> talked << talk

o ol Ll e Wails 5 —pd  Legd Libiald aadaiiall JladV) (e Laa (Dladll (l2a-

el e Al
drank >> drink
spoke >> speak
el ey Al Legla aid aadaiig jusl) JLadYl (e Laa 3ladll ola -
Exercise:
What is the form of the finite verb in each sentence?
a. base form b. 3™ person singular form c. past form
1. The manager talked to the employees.

C. past & <lsall 13« J2all 8 (ed) 1sa sl (oalell (1) (& 4 5 talked sa Jdll-)
form

2. He drinks coffee every morning.

Jadll o Lol L) 5 (5) 2dall Gl Caplall Aadle 35a 5 Baadl 5 drinks sa Jadll-Y
b. 3 person singular form s <l sall 131 cajie Cal5 Gl o

3. Ahmed and Khaled usually study together.

G Coylall Aadle 43 an 53 ¥ L 5 (ed) 40 235 ¥ 43 1aa3U  study s» J=dll-¥
a. base form st i sall 13 (s) 2l

4.1 went to the mall yesterday.



1al ¢ go ‘;u\.m\ﬁ\ J=all (e 5..4\.&3\ LGua A "?‘Eﬁ’“ e Jzd " went sa J=all-¢
c. past form s <l sl

5. At eight o’clock every morning, my father goes to work.
Lokl CEl G lall S5 s 5 goes s Jadll-o
b. 3" person singular form s <lsall 13 ¢ Jadll g5 es Ll goes << go
s22as uall J8¥INon-finite verbs:

Non-finite verbs do not show tense, person and number. The verb

“come” in the following sentences is an example of a non-finite verb.

e.g. | expect him to come soon. We expect them to come soon.
(person and number)

He is coming now. He was coming at the same time yesterday. (tense)
adind ) Jlady) dddlie ) it
Ll 5 el g gl e 5 (33 d)) JUdY) ) finite verbs J of Lide 13-
..Non-finite verbs = 5 S Gaw W uSlrall-

L Sag) 2aall 5 el 5 et Sl BT Lo Helai Y Al JdY) s eddak puall JadY) -
(o LS i gt e

as il Jaall e JUe adlal) aliay) < “come” eall-

Ll o el o a3l U e ol ia i Y eddad il Jlady) TN

| expect him to come soon/Jte-
We expect them to come soon
el S gl cpileall 8 Jaa -
(1) Y Gkl G adlg o jie Jeldll >> Y1 aleal) i

L(We) S Gl b a8 5 aea Jeldll >> 4l alaal) -



s s Non-finite verb 43Y Lsi¥ s WS iy Giileall S 4 “come” Jadll -
JM\J . ~“ i’. i~;

He is coming now/Jbs-
He was coming at the same time yesterday
Lol R s 53 Y "coming” Jadll-

(g Jbadll) palall ey A 138 >> (He is coming now ) (dsY) aleall -
=l () 4 1w>> (He was coming yesterday ) 4slll aleall é -
.. Non-finite verb s "coming" Jadll 13-

[(be) 4isusl) dad Il Sl s
(is) )Y alaal) b
(was) 4l aleall 3
..(is — was) "finite verb - 23a4 Jad" g 45 guSl) Jad 13
Non-finite verbs can have three forms:

1. The infinitive

The infinitive has the same form as the base. It is often preceded by an
infinitive marker “to”.

In some cases (e.g. after modal auxiliary verbs) the infinitive is bare
(without “to”).

For example: | am waiting for him to come. (Infinitive with “to”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking
3. Past Participle (also called —ed participle)

e.g. walked, talked, drunk, spoken

oddad paal) Juad¥) jaa e s ki Sl



:‘)MAM 4.2_\_»4-\
() JSAN) aulul) dapa Guii 4l jaiad) dxpa

Jadll -The infinitive verb) d& U & 5 juadl Lpa Ldle a (to) dals-

bare) e yradl dava ("auxiliary” saeluall Jud¥) (azy Jia) SV any -
(t0) S ALeal & (S5 a1 131 (02 yaal) ) dmy yuall —

.(t0) Usv Laadll oo s jle s bare infinitive J1 13-
S OsS 8 acadll daa 130
to &= infinitive-

S mall Jauadl ) Bare Infinitive =X 5 >> to U infinitive-
A5RAl aadl

| am waiting for him to come /J%s
.. to &« infinitive s >> to come
. il Lguall JSaN 58 13) ¢ (Base Form) 4asbul 4xua s >> come

zuall << —ing Ll caai &l 5 ((came) el aalall (o) (8 AU Al alead) 28 A
.. (coming)

.. to 05 infinitive s L J=ill to &ld 5 come 13-
He can come tomorrow /Jts
. "auxiliary verb " << &5 can Ua Ll
;ela(come) 2 can =z Jadll-
"asulul 4200 - Base Form" -
(9334 — finite) s 2 13 " jaas drua — Infinitive"-<
.. | come here every day < 4laall o2 & (come) 4] 4lie Ll g8 -
..(3334 — finite) ¢ come >> (I come here every day) +leall 238 i~

43 " jhae dana — Infinitive" ¢ come «ilull aleall i Ll



.. can << & 5 "quxiliary verb " = 3y
;¥ "3 yae sl pa yaias - Bare Infinitive” s s-
(t0) 4l (3l Al Jadll -
: Present Participle-Y
.. (ing-participle) = Laadl ey 35 ¢ (=ing ) 4d) lilcas Jaill 52 5-
walking, talking, drinking, speaking /Ji«-
..Present Participle = (—ing) 4 <ilias Jad i 13-
: Past Participle-Y
.. (ed-participle) Loy e 385 il il jualaal) (e oSI Caglon 52 5
aliiie Jadll 13 S 13 Al 8 -ed Al Ciliay aalall ey g Jad S 13-
o LeglSE i ol (-ed) Legd Libald (jlalaine (Mad Lea >> walked, talked /Jtis-
. LeglSs et olalaiie e (Mad Laa >> drunk, spoken Wi
(simple form) Base Form >> drink 13-
finite > Past Form >> drank

non-finite > Past Participle Form of the verb drink >> drunk

(simple form) Base Form >> speak
finite > Past Form >> spoke
non-finite > Past Participle Form of the verb speak >> spoken
sl g el 8l ol el s ol i ¥ >> drunk, spoken®
Exercise:
Decide whether the underlined verbs are:
b. non-finite a. finite

1. He was able to walk after physical therapy.



¢ e all el Ladie  jefiuw Ja >> walk-)
walk d=ill i of casy Ja . He Jlv They L -
They were able to walk :J sai--

finite - o)loss =i L were s was oY « were Ciasald was U e s lauda-

.. "verbs
"non-finite - Mae 2" 13 ¢ g LS iy walk J2dll of Ladl -

b. non-finite s <l sall 131 ¢ Gaddll ol el Cusy yiady &) sei-

2. He is making a chair out of wood.
¢ Gaamw 13l Jeldl Wal 8 >> making-
They are making a chair out of wood :J s&-
.. "finite verbs - Ol33ae (Dlad" Lt are sis OY ¢ are Caali s Ui Ll a-

5l gl 13 "non-finite - s BY-NEY 13« & WS 8y making J=4l) o Jaadl-
b. non-finite

3. He made a chair yesterday in his workshop.
¢ Gano 13l Lia agia 3l o yi8l) 323 ol >> made-Y
He makes a chair everyday in his workshop :J s&-

ce G e 13 ¢ g, finite oo o) sadl 13 ¢ 3l Canee Jadll a5 38 Slad a5 Jas M-
s Jadlls

4. You should spend more time studying.
98 s 13l Jeldl Wayl 51 >> spend-¢
They should spend more time studying :Js&i-
He should spend more time studying

| should spend more time studying



< s "auxiliary model" 2 ela 43Y daf 555 Y spend dedll o) Jaa D
..(should)

2 Gl sl 1) "non-finite - 33se ;" & (should) 2 sl 3 spend Jadll 5-
b. non-finite

5. They spend time together every Thursday morning.
98 i Ja 98 Gaaa 13l Jeldl Wad 8 >> spend-©
He spend time together every Thursday morning

Ldadll et aaie
LAladl oda 8 0 jiall G G ydall JSE Laadiia Ll Jaa U

a. finite s& <l all 13 ¢ "finite verb - daa Jad" byt Jadll Y -

s3daa yall am o3daall o jlxll Sl o aillFinite vs. Non-finite ((Clauses)):
A finite clause is a clause which has a finite verb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finite verbal group, “is waiting”.
LoV Al bae 5o yualadll gy Tl Glld U S5
e ad e (g gin o g o todiaall o il 4l o jLall-
He is waiting for the headmaster to come :J%all Jaaws le-

is ) 5 "finite verbal group — s33as 4ulad 4o gaad" e JUia s Sel € L
."finite clause - e33sa o8 5l o " A Sl il 5 (Waiting

cah\jadf;ana_)géjiaj_}cjah\jadf;;n@aé‘\.cwt&u:gﬂg\ﬁ\-

.. (One finite verbal group & One finite clause )



aglad 4 sana o (5 5ind LY sddas 4glad oy ) s e & >> He is waiting 13-
.(is waiting) &5 033

© O &) sa " finite verb" e sisy o s finite clause o cox A
(finite verbal group sl One finite verb )
A non-finite clause is a clause which does not have a finite verb.

In the previous example “for the headmaster to come” has a non-finite
verb “to come”, but does not have a finite verb.

At least one clause in an English sentence must be finite.
L dad o oian Y o a4 teadaa el o il i oyl

..(non-finite clause) s¢d 3ae e Jxé Ll 5 Siaa Jad Lial (S o1 13) T3l

for the headmaster to come /@bl JUall 8 -

o Jke" sla L 41 (to come) Jxdll Wil ¢ (the headmaster) s 5 Jeldll Lyl -
43 ) (Infinitive with "to" ) &85 seé ¢« " non-finite clause - e23sa & o 8
“utou C’q JM:\H-\A‘_AQ ;1;

5 (to come) s 5 3aa e J28 e (5 g3y (for the headmaster to come) 13-
non-finite - s33aa e o588 o o jle” 5o ‘*‘%‘“’l\"h"{'“f;u I sl s Y A

" ke
claust€-------
a finite clause —afiniteverd - 1 Al 5 e 1)
RE TR
a non-finite clause s 'a'if.‘-nite verb-
oo gsimasly
a non-fl'n-rrt-e-vm-b-—>"'"" —

__DJ;M Jay) L;‘; saal g o ya8 CsSa ui o << 4.1‘)..33;.13.” 4zll) é*

AT Q)ﬁoi&._x;g}dg\ﬂ‘;s ah\ia_)ﬁécjsggjﬁaidig_x;g<< alalS alea Lin ) JAN*
Mfinite-eadsa" o jadl

Simple sentences consist of one finite clause.
e.g. Heisastudent.

.."One finite clause — saal 5 s33aa o J38" (1o (consist — <alliy) adapdl Jaall-



He is a student /Jie-
.finite verb - 2aa Jad" 54 >> s -
A 4laa 532 131 < "One finite clause — saal 5 s33aa o ja" Lyl
.. adar alas Ul =3 One finite verb g« One finite clause 13-

Compound and complex sentences consist of two or more clauses with
at least one finite clause.

e.g. Heis waiting for the headmaster to come.

two or more - S| sl i 3" e (consist — alliy) edieall 5 4.8 yall Jaadl-
.."clauses

0585 O g o 3 (e ST e (o5t cailS 1) G oy 3l Gla e saal s Y oo
d=d" e (clause-a)ﬁ\) 0dA (S sind 8] Lﬁ‘ finite — s22aa" il jaall 038 (e sasl g
."finite verb — s

He is waiting for the headmaster to come /Jtie-

.."finite clause — s23ax 5 8" & >> He is waiting-
.."non-finite clause - s3>« e o 38" 4 >> for the headmaster to come-

> (is) 545 & finite verb a= finite clause e s sind LY 4laiSa aleal) o34 5-
."finite clause" Wl ) 13¢1

Verbal Groups
aaledl) Cile ganall
Verbal Groups :
Verbal groups can be of five types:
Type 1 Modal +Infinitive: could see, will come
Type 2 Have +Past Participle: have telephoned, has begun
Type 3 BE +Present Participle: are coming, were waiting

Type 4 BE +Past Participle: is grown, was broken



Type 5 DO +Infinitive: did not like, Did you know?

W S Lfﬂ\ (Verbal groups - 4aladl) U_a\.cyq;.d\) o Uhas JaSiw o palaall 034 -
4\.:_1\)3\ a)m\;d\ c_g Lgic glujaj\

s )il 0 (S N dgladl) Clle sanall-
Modal +Infinitive : Jg¥) £ sili*
tsh s ¢ Wl LG S3 L3 Modal Auxiliary 1 o SS-

- sadll) gl e can, could, shall, should, will, would, may, might
..(Infinitive

AT 13l (Bare Infinitive =534l jaadl @)..A\ qu.d\) = allall s2a s

an infinitive ) 5 (an infinitive with "to" ) L_S3 cailudl o jalaall (e clld 5 KX
=3 (The infinitive with "to") ¢«(without "to"
.."Bare Infinitive"

Modal +Infinitive :Js¥! & sl e JUie-
could see -)
Modal s >> could
(Bare Infinitive -2)534ll Jyuadl o) o pall juadl) 4 >> see
.. Modal +Infinitive Lual La 13-
will come -Y
Modal s& >> will
(Bare Infinitive -253&l jaadl o) gz pall jaadl) 4 >> come
.. Modal +Infinitive Ll La 13-
Al Cle ganall J5Y1 g gill annlly 13a-
Have +Past Participle : ) g sili*
Had, Has, Have @ (55 -

have telephoned -V /JG-



."telephone" J~&ll Past Participle 4 s >> telephoned
. ki Jad 4 (—ed ) LoV Jadll e Lical
has begun -Y

phile e J=é g8 "begin" Jadll "begin" Jxill Past Participle ) s» >> begun
..Past Participle J) s & Jadll JS& a5 1Y

.. (Had, Has, Have) + Past Participle 13-

L(akie e ol ke g J8) Jrdll ¢ g5 e oy o

BE +Present Participle : Ul g gili*

s25) "non-finite verbs - aa il J=ill" 3 JUS il Present Participle L_S>-
—) J=ill e i Present Participle J) Ala 8 of ) (—ing 4l llas Jadll
..(ing

—3ae Jad) 585 "is, are, am, was, were, been" st 5 (BE) 43 suS]) Jed Lipal T3l
.. (finite verb

.. (finite verb -23s« & Jx3) sa Present Participle ) s-
are coming - /J%s-

(BE) 43538 J=8 >> are

(—ing) 4 “ilias J=dll >> coming

were waiting -Y

(BE) 41518 J=8 >> were

(—ing) 4 sbas J2dll >> waiting

il e anall GG ¢ ) oa 13-

BE +Past Participle : &4 £ s3I

is grown -V/JGs-



(BE) 435S J2é >> s

"grow" J=&ll Past Participle 4 s >> grown
was broken -Y

(BE) 435S J28 >> was

"broke" J=ll Past Participle 2! s& >> broken
- el e ganall gl )l £ 50 ga 1a

DO +Infinitive : owalddl g sili*

(finite verbs - s3dsa Jladl) a 4 Jxd¥) s3a¢ (Do, Does, Did) o5 3 DO -
.(Infinitive- saaall ) agall llias "axll sf agia 31 o il ol padill" S5

did not like -) /JGs-

DO ! s >> did

(Bare Infinitive -2)534ll Jauadl o o pall juadl) s >> Jike
:Bare Infinitive ) 4k s=ls*

.. "Modals" 2 i -

."DO" any Al B -

Did you know? -Y

DO Il oalll 4xpa s >> Did

Bare Infinitive " — " know" J2ill 2534l jaadl o) o pall juadll) 4 >> know
..(of "know

The first four types can be combined with one another to form more

complex verbal groups like:
Ahmed will have finished that book by Friday. (Type 1 & 2)

He has been learning English for four years. (Type 2 & 3)



He will have been learning English for five years by next October. (Type
1,2 &3)

The president could be seen by everyone. (Types 1 & 4)

He is being called now. (Type 3 & 4)

a1 55K of agiSay (1) el ¢ SN (V) g sill) T an ) g ) Y-
ST adaidl) e sanall debua maall (ans 4l i O (Sedl) e 131) "combined
(mrn S OYA (e Taad ST aelans ) LSSy (81 5 sdina o Jea¥)) Taiad

Modal +Infinitive s&5 Js¥) g sill Ly =V /Al s e
Have +Past Participle s S8l & ol s

Ahmed will have finished that book by Friday -

LSl e il da g e Jg¥) e sl > will have finished

U lgde 350 Y (Infinitive -oias) & allall o3 i "have" >> will + have
(DY) g i) s 1) aadl sl sl o 3

Have +Past Participle = ( &8l g sl s 1) >> have + finished

Laglay 5 2ic ‘f'am\ 5 deY! tjﬂ\ o» (combination — a_x:xS‘)ﬂ\) [ a5 JUiall 1aa T3l
-n u. .

Have +Past Participle s s SUll g sill Lk ) 2¥

BE +Present Participle s 5 Cillll ¢ 5l as
He has been learning English for four years-
LAl & gl da g e SU g 63l > has been learning

"finite — 3a4"< has sla (S & 5l s 1) >> has + been
a¥) Jaill (e 353l (been) Past Participle+(has, have, had) ¢S 3
.."Be"

..been s "Be" Ul Past Participle 13-
(<l g 51l sa 13a) >> been + learning

"Be" J=all Past Participle 1! 525 (Be) 4252S) J28 >> been



.. (-ing ) 4 Gilias =il 1 Present Participle 3! 2 >> learning
Lol A e sl S i W gy JE 13 T
p A Ul LS gl gl ¥ oy L LSy 2
He will have been learning English for five years by next October-
LG 5 A 5 OV e ) e Sl
Modal +Infinitive s& s dsY g sill Lilay 5
Have +Past Participle s 5 S8l ¢ sl s
BE +Present Participle s 5 Gl ¢ sl as
(ds¥) & 5l 8 138) >> will have -
Modal Auxiliary >> will

(Infinitive - xasll) >> have

(S8 g sl 58 13a) >> have been -

s2cldll 8 "Have" JI s >> have

"Be" 4i suSll J=4 (1« Past Participle 4 s >> been

(& & @l g 13a) >> been learning -

"have" = <l LY (been) <X ol Li"Be" Il @ >> been

Gl g il Ul ¢ gl 45 31 Jad 223 el ¢ Present Participle s#>> learning
il e ganal e

iNto One — sdiza aal 5 4lad de gane ) CIEN 5 SEI 5 J5Y) & sl Liday 5
..(complex verbal group

Modal +Infinitive s& 5 Js¥) g sill Lk ) Gl 138 8 2%

BE +Past Participle 585 &Il ¢ sl xa



The president could be seen by everyone -
could be -

Modal Auxiliary >> could

Pty ~ " be" ol aadl s "Be" 43 ikl Jadl [nfinitive el daa Ua Ll >> pe
(Bare Infinitive - zopall juadl) & 13 "to" 4alS L al

be seen -

43 5iKl) (28 >> pe

Past Participle of verb "see" s >> seen

L Vs DY) & sl S il W e gy JU) s

BE +Present Participle s s &dUll ¢ sl Lilay 5 -0
BE +Past Participle s#5 &/l g sl ae

He is being called now -

(Sl & ) 58 13) >> js being -

(Be) 4i5uSl) Jad >> s

=(-ing ) + (Be) ¢! ¢ (—ing ) + J=&ll 545« Present Participle 1 s >> being
being

(& g5l 58 138) >> being called -
"is" 2 Gk 40 (—ing ) Al lilias ela Ua (K15 (Be) 4i5S)) Jaé >> being

Past Participle of verb "call" s >> called

All such groups are formed in the order 1, 2, 3, 4, as follows:
4 3 2 1

Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past
Participle)

Db LS £ Y oY O il e gl aslall e gaadll JS-



4 3 2 1

Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past

Participle)
a0 sl g ¢ S 8 il g gl ol e JaY) B S g sl Jeas o LSy Y T3
+ S+ I e sl S Y e ) e e e 13 sSy o cang Y -
(i)

el Sl JW g s
&
Rule combination — al il 5 ca ) sacl) ¢ o 13 Ll 5 ¢ S8 4y Jlall 23gy
.. (of

P AU £ Y Y ) e of 4 Y sl -
Js¥ g sl >> Modal +Infinitive -)

S g s >> Have +Past Participle -Y
&l ¢ 4l >> BE +Present Participle -¥
& & sl >> BE +Past Participle -£

il 13 @i o) (e Y 48l alieY) 8 Uilad LS an ag &5 day 53 o Lo yi 130 Tl
LYY )

Note 1: The meaning of the verbal group is contained in the last word.
e.g. He has been learning English for four years.
.. oY) 4alSll 8 (contained -25 ) 4aladll e ganall imall 1 1Y) ads salall

Lexical )= o 85 cagladll de ganall 4l i o 2y 3 Ll il Gl 5 a1 4.0 13-
.. ( meaning

He has been learning English for four years /Jb«

035 ) "Function" ki agi) claall 82 8 e sl 158y ¥ >> has been -
(i adds ) Aleall ol L adylag

( Lexical meaning -senadll il dllai ) gl ¢ inall dllai >> |earning -



__wj\ms)zﬂ"{j,igu‘,m 2 e Chdadi e L
coo Y] A e ARES agladl) de sanall el T3

Note 2: Only the first word of a verbal group is affected by person,
number and tense. The first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

ool gl aaall ff (adal Lgle %) addadl) dc ganall G sV 4K Ladi-
.. (finite — »3224) ()5S 15V 4Kl 41lad dc gena Lipal IS 13-

ac sanall an Jead A o 4gdadl) 4e sanall 3 (Y1 Jadll (1) 53 aadSU T3

.(finite — »2224)<

He has been learning English for four years - /Jt«

— 023a4) < 4e ganall mian Jang ) a5 (finite verb — 33a4 Jx8) 4 >> has
..(finite

" sy (JsY) Jaill o) (oY) Al e 3y Juadll g oddnd 4glad e sene Lia Lnal T3I
.."has

| have been learning English for four years -Y

LG 138 8 Adadl dc penall 3 53 aal) 8 "have" of Badlig ) -

"He has" << Js¥) Jud) i -

" have" zaald jiad g3l s Lads " has" of Ll " " ) " He" Jeldll U e Laxie
..(Non-finite — e33as ) < lagia S ¥ Laa LS U (learning s been) -

¢« Past Participle » >> been -

Non-finite -s33as sl Jxd¥l) fa s2a) & " Past Participle” I ol S
..(verbs



¢« Present Participle s >> |earning -
Non-finite -e33ss aall i) aa s2a] & " Present Participle” J o} S
..(verbs

(finite — 33a2) (55K @A am I s JsV1 Jadl) of I3 (e i 13-

They have been learning English for four years -¥

.. 35 g3 sa "have" Ls-
They have ©aual << He has-
.. 1w ol been learning-

.(finite — s32a2) 43lxdll 4c ganall aren Jra A 52 Lia J5¥) Jeall 13-

Glo sxy Jumdll 5 023n4 43lad 4e sana o (has been learning) ol Jsill ki 131
. Aakedll de gaadll 3 cela N Y 4Kl a5 " has" sl Jadl)

Exercise:
Choose the correct order for each verbal group:
1. a. have seen could b. could seen have

c. could have seen d. seen could have

& oY sl Gl ball L (b, ©) of Las s el sVl o2 8 Modal ) o o -
Loy

(Past Participle) s\ "seen" L >> b, could seen have-

"have" i >> ¢, could have seen-

«(Past Participle) J# b " have" ol W@ Sy LS
c. could have seen st allall a2 & sl ol sl 13l

Modal +Infinitive < Js¥) g sill Liday -



Have +Past Participle < 4 ¢ sill ae

2. a. have should been doing b. doing should have been
c. have been should doing d. should have been doing
L.l LAY sda @ Modal J e ¢asyin =Y

d. should have ) s 4y & "Modal" e s sing ) 2 sl Gl sall i aaDls-
(been doing

should have been doing -

Js¥ g sl >> should have -

"Modal" s >> should

(Infinitive — Lxas) 54 >> have

SUll & 4l >> have been -

" Have" s >> have

(Past Participle) s»» >> been

&l ¢ sill >> been doing

"BE" 435Sl J2é 58 >> been

(-ing + J=dl)) &) (Present Participle) s >> doing

3. a. has been studying b. studying has been
c. been studying has d. studying been has

sl b ad S g gl e Cmpin 13 ¢ an 0 Y Y Sl Modal Ll da =Y
.. (Have +Past Participle)

(a. has been studying) JWia¥) & Wlas s ¢ (has) s " Have" Judl 13 -



has been studying -
Sl ¢ 8l >> has been -
" Have" s >> has
(Past Participle of verb "be") s >> been
been studying -
"BE" 435Sl =i 4 >> been
(-ing + J=dll) ¢! (Present Participle) s# >> studying
. abla 4l (b, ¢, d) Alall s2a 13-
Verbal Group Types
alail) 4e ganall £ 5

(S IV & il zan s Tl aali SO cagledll de ganall &5l (e g 53 JSI (3 phatins Y-
Lol el I el

- Jaadil) (pe Jiliy agia aal 5 JS 2alin (Y 5
Type 1 Modal +Infinitive :

e The main verb which follows a modal auxiliary will always be in the
bare infinitive (without “to”).

e.g. can see, could see

e Modals are not affected by person and number.
e.g. He must know how to speak English.

They must know how to speak English.

e All verbal groups beginning with a modal are finite.
:(Modal +Infinitive) s s /¥ & sil) - lasie-

oo ! (Bare Infinitive) Ll ¢ s$ Modal Auxiliary ) @i g3 Y] Jedll -
00" AlS Jadl) 12a é-j-a:ﬁ_a_ﬁj_ £19d

S_——-



Os% (Bare Infinitive) s Jaill 13 & & Modal J 2 i Jad 6l
"uton - é;i'“"i Ui

couldtosee s cantosee << Jsll <liSqV /s

couldsee ' cansee << Jsall iy oS
. 3ah sl e jaas 4dl ) (Bare Infinitive) s " see” Y Jadll La-
e 19>l g paddll < Lede 55 Y Modal I -

s ol 520l 5 (adilly aede S5 (finite verbs — exdaadl Jlad¥l) of Tl L

S_——-

.(finite — o2dak) iels Ll
He must know how to speak English /i«
They must know how to speak English
o2l 5 et sl e Lavie s cllall WIS e o3 i o
He must know -
_,&S&\qju\‘;cé}qﬁdc&}a>> He

j\JM\j\uM\MJ@g@MQ&ijW@ >> must know
ol

They must know -
L) Caplall 8 ad g aas Jeld 8 >> They

}idiﬂ\}iu@\mﬁé@u&u}@ﬂ@}m@ >> must know
s

.(finite -0 s93a%) aa Modal = s il 4l=dll Cile sanall JS Y

\)sﬁe@ssjwumuu‘,m\@;j;;;eswmuwam O s
.(finite -0 532a%)

Type 2 Have +Past Participle :



This type is an expression of the perfect aspect. “Have” is used as a
helping verb (auxiliary verb). The helping verb “have” is finite and
changes according to person, number and tense. For example:

He has read the book already. (present perfect tense)
We have read the book already. (present perfect tense)

The students had already gathered in class when the teacher entered.
(past perfect tense)

:(Have +Past Participle) s s [SGl g sl

perfect -"alll Jzdll 5ua" Al ils) U ((expression -xed) sa & 5ill 1a-
..(aspect

The s The perfect aspect) oo 4tbull 4u )3l 6 gall 8 6 i j3 L (5 ST &3S 13-
sa¢ilial (0 5 (progressive aspect

(The Past perfect s The Present perfect)

g sl 4 La Ll L Jis (Have +Past Participle) = ¢ L= "The perfect aspect" -

.. (&) ¢ 5l = The perfect aspect ) of -

..(Auxiliary verb -aclus Jad) S 233505 " Have" -

S sl ey S 4l s @l U S5 > (finite — 33a4) sa "have" acluall Jaall-
Lol o el

Present perfect ) =% s4 s >> He has read the book already -\ /Jt«-
(tense

Present perfect ) =2 25 >>We have read the book already -Y
(tense

. M\JJJ}J\MJ}&S-



The students had already gathered in class when the teacher -Y
.. (Past perfect tense) =2 s 5 >> entered

a,_)m‘.;“u had"j‘“ had" Leasto) ‘\J\ LF“ALA g\;w‘)j\ ‘&>L)‘°‘)S\ s ‘):,:’_
" Have " Jd o=l

Type 3 BE +Present Participle :

This type is an expression of the progressive aspect. “Be” is used as a
helping verb (auxiliary verb). The helping verb “be” is finite and changes
according to person, number and tense. For example:

He is coming. (present progressive)
They are coming. (present progressive)

He was waiting. (past progressive)

They were waiting. (past progressive)

:(BE +Present Participle) s 5 /&I g oil)

( progressive aspect - 23l Gila) A jued g4 & gill 12a-

Jadl) Laa” Gl caila) U s 4 < "Have +Past Participle”dsY) ¢ sill 13-
( perfect aspect -"2ull

- >l qils) U e 8 < "BE +Present Participle" &Gl g sil) s
:43lial (e ¢( progressive aspect

( Past progressive s Present progressive)

5% 5 e (finite -33a2) 55 <(Auxiliary verb -iclue Jad) S a325.4 " BE"-
Lol o saal) o il
remmmmmmo--o —Heis coming - /JG

| Present progressive LS .
1

____________________

—Fhey are coming - Y
Lol g adEl R JEACH 8 BE" 45 suSl Jad of Lia Jaadl -

] U“):*-‘-’ Lfi ‘(flnlte 'u\ﬁfg\ﬁi\) Laay \-\QJ ¢ ua&.uj\ 9 A=l ERTTeT) \‘);\,_'3 (are - |S) -

.. ua;.aﬂ\j A=l



| mmmmmmmmmmmmm e was waiting -V

1
| Past progressive L3S .

' —Fhey were waiting - ¢

.o oandll g ool G | e (were -Was)oi;@i&hm-

i NP P PUPP PR F A

—He was waiting

*

Posmmmmmmmmmmsomm—ooog —He is coming

________________________

—Fhey are coming

ro---------------------- Hewas waiting *

"""""""""""" They were waiting

Type 4 BE +Past Participle :

This type produces the passive voice (in contrast with the active voice).
The verb is active in this example:

Ahmed broke the window. (active voice)

The verb is passive in this example:

The window was broken. (passive voice)

:(BE +Present Participle) 52 /a1 ) g ol

98 aqlud) aSiLul 50 JOA (e 2S5l 4dslle Passive 4alS Ja (Passive Al Lidasy & sill 18-
s gl a g o ydie G o pualaall S 5 s salll (u il aaley Lalidal Lia) Slad )
(11, 5S35 130 o pualaalla Ul Cada s il

LAl sl 8 "voice" ) g) sl (sas) 4 Passive -

e G gem >> [ Passive voice ] ) ¢(Active sl Passive) @ 05 3 "voice" J-

(dsenall Fse)



32l gie G >> [ Active voice |
(psteall e ) il

rJlall e 8" Active” sla J=dll -

asbeall i s) (active voice) >> Ahmed broke the window

s JUall 138 4" Passive " sla Jadll -

Jsexall Aw ) (Passive voice) >> The window was broken

. Jelall S elinia g5 4 J smiall L2AT Ll sa L oliled 201

.. (the window) s 4 Js2idl 5 (Ahmed) s Jeldll 1 Y1 alaal) i

& (the window) = Ul 131 gad Jeldll els "the window" : 4l alea) 8-
..(was broken) = Wlixs

Be +Past ) s 5 4sdadll e sandll (e aal ) £ 5l alasinly Passive Likial 13-
..(Participle

(The window was broken) << 4laall ciauali-
"Be" 41 5l J28 >> was
[ break, broke, broken ] < Past Participle of verb "break" >> broken

Jsexall Sl 5) (Passive voice) J) 4xua Lt >> was broken -

Modal Auxiliary U :Jg¥) g sill-

perfect aspect ! 1ALl ¢ gill-
progressive aspect -l sGallly £ sl

Passive voice I ;&1 g sill-

Exercise:

Decide whether the type of the verbal group in each sentence is:



a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)
c. Type 3 (be +present participle)  d. Type 4 (be +past participle)
1. The machine was fixed.
(Verbal group -4:lxd 4c sans) >> was fixed -\
" be" 435Sl Jxd >> was

Past Participle of the verb "fix" >> fixed
Jseaall il ) (Passive voice) ) e Jbia 138 13-
d. Type 4 (be +past participle) s <l sl
2. He can fix any machine.
can fix -¥
Modal Auxiliary >> can
"Bare Infinitive" <84l (sdny 2 5 (Infinitive -_yas) >> fix
LI e sl e Ol 13a T30 (Adaguall ddpall) sl Jadll Zipay Ua ola " fix"-
a. Type 1 (modal +infinitive) s guaall il sall-
3. He is fixing the machine.
is fixing -¥
"be" 4kl Jxd >> s
(fix + ing) = (-ing + J=dll) ) Present Participle >> fixing
.. callill & i) s 5 (progressive aspect) J e Jbia 13 13-
c. Type 3 (be +present participle) s zusall i gall-
4. He has fixed the machine.
has fixed -¢

"have" (» J)é.d\ Aa 4 9 >> has



Past Participle of the verb "fix" >> fixed

.Sl e sl s s (perfect aspect) I e e 13 T

ke Lyl g ol () 8 el LY 1388 i > has -
X" ealaY) d28ll (e (Past Participle) ) 4va & 5 > fixed
b. Type 2 (have +past participle) s zesall Gl sall -

Type 5 DO +Infinitive :

In this type, the helping verb “do” is called an operator. We call it an_
operator because it helps in a number of operations performed on the
verb phrase (VP). Some of these operations are:

Operation 1: Negative
To form the negative, we put “not” immediately after the operator.

e.g. He does not want it. They did not come here.

: "DO +Infinitive" /s 5 4dlsil) 4c sendl) ¢ 5l (o (ualdd) £ gil) L Y-
.. dale 5l @534 o) (an operator) = = " DO" e lusall Jaill < ¢ il 13a-

PLIR N Sl g avaudl) s3] Cann Sllia g «(an operator -;)\.ol.c) 205X (Al Jal-
— ¢33 S (operations -lides ) I (e 220
(VP) 4l=dll o jLall e (performed

.4ilisd) (operations - <lhlee) 038 Jae 8 Liacloy (an operator) 13-

s)sall o2a & L (operations - <lilee) &6 Uelacly a5y 4l 1) Sl J gy
LY e ST o g WU ST ¢ oagn )l

: operations ) s3a (4 13-
:(Negative -Alll) A g¥) 4land) -
.. (operator) Jl 21,58 (not) &S muai o e Y il Aelua L ) 13l

__(Operator) | P "DO" 4K allall 52a Lé-



He does not want it () /JUe-

LB Caplall (8 A8 5 s 5" DO" J2dll (e g jlaall 3 a4l Aaa s 9 >> does
.. 1,58 (does) 2 ad s >> not

..(operator) ) 22 " not" sz (Lo dea i gl) Al ¢ i S

.. "does" s (operator) 3! 2 " not" Libcal alaal) s2a b

They did not come here (Y

L DO" Jadl (e ol drpa 2 5 >> did

.. 1,58 (did) 2 &85 >> not

o3a Jaail (g1 ] ¢ i) guail " not" s2as adiss ¢« "did" 25 (an operator) Lual Lia-
.. [ 4% operation 4!

Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject
and leaving the rest of the sentence unchanged.

e.g. They come here.

Do they come here? (interrogative)

1 "I (Interrogative -4saliicl) 4xlil) daleal) -
llues 5 (question) I Gl LU Lee i o «Jadll g il e Ll ol 83 La ()5 S
.(Interrogative -4lEiuy1) s 5 U anas Ly

( <lsaiwY) -Interrogation) o 2sake "aleiiu¥) - Interrogative” *
(Sl slaall e $8s3ll-Interrogate information ) x5 Laie

«laall & (operator) ) 2= "not" aai (Operation 1 - (JsY) addaall) A-
daal "Jeld" Jé (operator) J) aai (Operation 2 - 48Ul 4aleall) a Lia (<1
o Agalgin aleal)

LB Y b LS aleall 48 5 "Jeldl" Ji (operator) I g 13-
They come here /Jie-

.. (an operator) ) Flisd axledivl alaall delua Jaal-



" s (operator) Il O sSwd "s" B a Y 5 Clilial (s (come) 2sa s Alladl oda 8-
.."Do

Do they come here? : J -

Y oco b gl mrdy (e le Lid ¢l al alaall A8 5 4yl 8" DO" AlS Linaca g Jadi-
ot LS alaall Jani L ¢ paivsall § jlaall dapa (8 Y 5 oalal dpa 3 dadl) Jaas
BB RSN

" < (operator) J e 2 ga Jadll 5 4algiinl & >> (Do they come here?) 13-
.."Do

Operation 3: Tag question
He did his homework, didn’t he?

They don’t come here, do they?

1 (Tag question = S gill J) ga) 4GIAY dland) -
..(an operator) ! b3 AS @l J) g & puaail-

&) i ol Bl s (He did his homework) << alaall s Lyl cailS 131 -Y /e
He did his ) << 4leall muaind "did"< (operator) () zUsd S 55 Jl g Ll
..(homework, didn’t he?

2S5 dlsw s >> didn’t he -

.. (No -¥)sl (Yes - axi) o8 S 6ill J)sud & sSane ol galli-

.. Yes, he did << s ol sall G 5l e 0 s JV sl 120 3 oS0

.. (operator - Jale) JI 58 "did" allal) o328 3

They don’t come here, do they? -Y

AS 55 s 98 >> do they -

LS Gl Jlse W g geay ST Ua oliaadinl 5 (operator - Jele) Al 8 >> do -

.. No, they don't << (Al g sSi S5all (e @l sall-
[ : Ogielual (operator - dale) ) (e axdis 3l 5 (operation — Claleal)) (e &1 s COEN o 038 ]

[ 1- Making Negative ] [ Aaiia Lglea - ]




[ 2- Forming Question ] [ g delua Y ]

[ 3- Tag question ]a{ AS g g -V ]

Jal sall ~iS

Operators:

In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can, could, may, might.. etc)
e.g. Operation 1: He could not come.

Operation 2: Could he come?

Operation 3. He couldn’t come, could he?

..(operators - Jels2) I Jsa I Giles ) S (Y1

Al (operators - Jal s2) @llia sadll & 5l (do, does, did) () iyl
rdeds

:(modal auxiliaries)-) -

(can, could, may, might.. etc) /Jis-

) 4aleall >> He could not come -V /JUis-

& guail "could"< (operator - Jale) ) 2y "not" L 5-

Y 4laall >> Could he come? -¥

< Aalgiinl dipa lelaad alaall 4l & "could"< (operator - Jale) I L 5
¥ 4lexll >> He couldn’t come, could he? -Y

.S 5l Jl g gaail "could"< (operator - dale) I Leasiul-

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in
British English ).

The following are examples of “have” as a helping verb operator:



Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?
..(operators - Jsls£) S (slary 3B > 1 “have”, “has”, “had” -Y

- dalse) S ageadin Ladie dgulul JdlS 5l saclie JWilS agaladinl (Saal) (g -

..(operators

Adald Alla o3gd 4..4.\.»1...»\ Jad ?@_‘1\ ?é.;:\.mj 5 (operators - d.a\}c) S PPN Ladie -
Ay ) 4adl) xie

Jni (st (an operator — Sule) 5 Lotie “have” ) e () sSis 41 AliaY -
:( helping verb operator ) =8 S

) 4)laall >> They have not come yet -)

( helping verb -iclus Js8) s 5 (an operator — Sule) >> have -

(main verb - bl J=8) 4 >> come -

8 daall debua Jaail " have"< (operator - dale) ) axy "not" AalS Cela -
Y 4laall >> Have they come already? -Y

- Aalgfinl aapa Ledaadl alaall 4l 4" Have" < (operator - Jale) ) sla -

main -l J28) 58 "come” 5 (‘helping verb -aclua J=8) cls La " Have" s -
..(verb

¥ alaall >> They haven’t come yet, have they? -V

..(helping verb -2=lLus J28) 54 5 (operator - Jsle) ¢l >> have -

..(main verb -l J28) >> come

LS5l Jl g duad " Have" < (operator - Jale) ) ¢ls -

.2l J=i S (operator - dale) 3 DA e OIS a8 55 s (I ¥ aglenl) Al 13-

This is an example of “have” as a main verb operator in British English:

Operation 2: Have you any money? (British English)



Compare: Do you have any money? (American English)
(operator - dale) S 234503 38 " Have" o cus 4ala cla @llia o b S3 *
main ) e [ 4slayll 4alll 8 bass acalal) alall oda 5 ] bl J2iS Ciiiaz

..( verb operator

/Y adleadl e Jlie
( Have you any money? ) :Js& axlay yll 4alll 8 Jlal) callas Laxie -

main -ulsl J=3) 585 (operator - dale) ela " Have" << axilay jll 4slll é -
..(verb

:gll_ﬂ\ Il & Gaalaad) JUL o las *
( Do you have any money? ) :Js& 4 5 aalll 8 Jlall allad Laaie -Y

helping -aclus J=3) s 5 (operator - Jale) ela " Do" << 4 oY) axlll Jd -
..(The main verb - ¥l J=2dll) 58 " have" 5 <(verb

- Jale) a2iins «( Do you have any money? ) :dsi 4S5 51 2all i Sale 13-

¢ pn ALl allall 038 3 aclis J2iS " DO" < s g Al (operator
La (operator - Jile) S " have"< (The main verb -sbu¥) Jadll) a3 Y
<l e Lal

(/ o3 3l D

S_——-

- d.ql_c) S agladniy) ik ¢«(main verb - slu! dﬁ) < "Have" ysS ladie-
Agilay pall axlll 8 Jasd (K15 alisY) juaidl (operator

S gl g dclual delue J2 " D" < 54 (operator - dah;) PRENV sale -
AUy 5l 4alll 8 Lealasiiad (Saall (e s cd SaladV) 4alll 8 a0d5ld

n o w0 u n o« n o«

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.

Operation 2: Is he here.



Operation 3: He is here, isn’t he?

s (operators - Jal 52 ) S slany 38 > “am”, “is”, “are”, “was”, “were” -¥
Yl s ax 0 Y s (auxiliary verbs) < sacluse JudlS o aglud Jladls ) sl
P oiadll LS 8 e i) (s Ll ) (A0S e al ity 5l 42l o Ja) GBS aala

sl J=i€ Cailai (operator - Jale) osSs Ladie “js” Ge ()5S 4l aliay)-
:(main verb operator) e

) ailaall >> He is not here -)

Jaad 022y "not" Ll LY (operator - Jele) sa Gl a5 bl J2d 58 >> s

Y 4lexll >> |5 he here? -Y

daall Gpa Jasil aleall dglay & olina gy " 8" < (operator - da\.c) At -
..(The main verb - ssla¥) Jeall) sa " 15" 13 Jal Jad ol aa g1 Y casalgdiin

¥ 4daxll >> He is here, isn’t he? -Y
..(main verb -(ubal J28) a4 S84l udh g (operator - dale) ) g2 >> s

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.
Operation 2: Is he coming?

Operation 3: He is not coming, is he?

selue JuiS iial (operator - dele) 5% Ledie “s” (e ¢ s 4l aliay)-
:(helping verb operator) =4

) 4leall >> He is not coming -)
..(The main verb - Y J2dll) 4 >> coming

aleall delpa Jaal o2z sla "not” OY (operator - Jale) 2 5 aclus Jad s >> s

Y «leall >> |s he coming? -Y

..(The main verb - Ls¥! J=all) 4 >> coming



5 Lernan alaall 4ol 8 oliaadinl 5 (operator - dale) 58 5 aclua Jad 58 >> s

¥ aiaall >> He is not coming, is he? -V

..(The main verb - =¥ J=ill) 58 >> coming

oSl Il g W anadl 8 olieadinl g (operator - dele) 8 5 aclue Jad 4 >> s
Exercise:

Decide whether the underlined verb is:

a. a main verb operator b. a helping verb operator c. not an
operator

1. They do not come here often.

delua Jaald "not” saxs sla 5 2clue Jad 4 5 (operator - Jele) 52 > do -)

..(" helping verb operator" = s 13l RIENPEN
b. a helping verb s il sall 131 ((The main verb - ¥l J=dll) s > come
operator

2. | have not seen this movie yet.

delua Jrad "not" s ela 5 2clua J2é a5 (operator - Jle) s >have -

helping verb " e s 13) ot deadl

..("operator

b. a helping verb s <l sall 13 ((The main verb -y J=ill) sa >seen
operator

3. Do you have a copy of the movie.

990 ud) delucal sliaxdivd Ja (15 ¢((The main verb - ws¥! J2dll) 4 > have -
13 il " D" e Lusall il ekt Jy eJai oY

doad alaall Z9lak 8 slieadinl 5 (The helping verb -2cbudll J2dll) 4 > " Do" 13-
" have" oS5 ¢«(_helping verb operator) =% s JI sl W
5 lsall T3 ¢l JaiS ola L ¢J) gl d2laal (operator - Jale) S s axding
b. a helping verb operator

4. He is not here.



is" e AT Jad alaall 38 (B aa 0 Y £
=2 s 3c(operator - Jele) 52 5(The main verb -bs¥! J=dll) 58 > js 13-
< (operator - dale) ) 2x; "not" Jeas il Liial 5 ¢(main verb operator)
a. a main verb operator s gl Gl gl ¢"js"

5. Heisn’t going, is he?
..(The main verb -~ J=dll) sa >> going -©

helping verb ) = s 13 ((operator - Jele) s 5 aclue J2é 54 >> s
b.a s lsall 13 ¢ "js" aclusall Jadll aladiuly A gl ) s Waial 5 (operator

helping verb operator

Form and Function
anhgll 5 axpall
Form and Function: 4ib gl g 4auall
Form is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
Function is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement
ol G adda gl g arall Gu A e DU a6 jualaall sda ¥
..(word/phrase/clause) 3 4 sekay 3l jedaddl 5l (S5 s 4dmall-
Mo laal) Aaga” ey Ll elaa 5 MK s ey 4Kl selaa of (sl
Ml Alaall"J gm sall ansW) dlas caded o le cAgand ol (2 ¢l /i
) Aa Jadl) o) (sl (au) ela) Jadll 138 10 65 Lavie Sliad-
28 a4l ) () (J2d ela) 4l oda 1580
ALl ol pualaall 8 535S alial agd U S3 (VP) 5 (NP)-

oe oole s (clauses — <l i Jeall) dl g1 550 (saa) 228 > "relative clause” -

-

L) eLE o) 4adal) @l puzalaall A (clauses — <l ol deall) ) e Cidaiig®



.4l 4 (word/phrase/clause) 4 deall (e o jlie s 51483 6l)-
.. «laall 2 (word/phrase/clause) 4 4lx& L (-

Ll U 583 LS (NP) 4xan¥) <l Jlall Jae 58 5> (Subject -laisall 5 Jelall) =) /(fie-
..(Subjects - Cixise s Jel 58) &5 8 (NP) dzan¥) Sl jlall f

. 4ada gl > (Subject) Jell) capall > (NP) apansy o jluall 13-
i (5 B 5 aihs 5Sy 38 Liayl > (il — Predicator) Jedll -
ARKKS o) Lavie dipa ) Si-

.(Predicator) usbYU Ll 4l Caliad Laxie aadag o) S0

«( Predicate -4all 3ili) 5 Jeld: o (5 sind adarall Jaall o LB LS-
¢(2iall — Predicator) e 4al) diuall & J=dl)

it can be " ki J=dlly (La 5k) ledaa i of o83 (2iwal-Predicator)) dada s (Sl
"filled only with verb

ails £ g axual (Verb) pllaas aadius S8

el i 41" Verb" sawe Y 4iks £ (Predicator) sl (Verb) zllaas araius s
..(Predicator) (s s 4da ll

(Verb) e a3 i «(Predicator) sawe bale addini ¥ ¢ ) ga¥) dagasil (S -
LAspall g4kl e U

aada i (to indicate — ¢ 5 i) (Predicator) (sassel) alaiiul Loaf LiCay oS-
Alaall 8 Jadll Lelagy )

cAasldl Gl yalall ‘_,,A oluidls > Direct Object -¥
oA elE o) o palal) s3a s Ld8lie > Complement -¢
Exercise:

Choose (a) if the given term refers to a form and (b) if it refers to a
function.

a. form b. function

1. pronominal group



L Weall :lale JUia U S5 54y sl 4o sandl e Tl L jo-
Lall < g Je 5 ¢ We < e Wl 4y jiaim de gena A (We all)-

%m}\ a‘)l_ud\"‘u)@_ln:a‘;d\ )&u\uﬁtﬁ‘)w\ M\@MJM\ALM\;\J\-
a. form s sl ((group of the words — SllSll (4 4c saas" i "phrase -

2. indirect object
L(NP) sl o e o5& L Ule 5 aiilay 8 >> indirect object -Y
..(Functions of the "NP" — 4xeu¥! o jlaall Cailda 5 ) (6 aay 3800

indirect - »ile e 43 Jgnia) & 4ddasll s ¢ (NP) 4sand o e (4 asaall i -
..(object

b. function s <l sall 13-
3. complement

OS)5 o 3un 5 0 538 22y (complement — 4l84) I oo (il >> complement -¥
— L&Al o i o8 gl o jle o Al ail g Ay LS jall (saa) Gl o2
b. function s& <5l 131 ((complement

4. subject
acanl o jle S Lellle 5 adday s Jelal) o Tabu oliddls LS claia) of Jelal) ¢
..(NP)

) T30 ¢ Jel (subject ~Jelll) A 4l gl 5 (NP) 4sand o jue A asaall o (s
b. function s

5. noun phrase
dapa apan¥l o ) S Lle 5 crpa & (42auY) o JLall - noun phrase) -°
sJads cg_ifw\i:}]\ O A=l
..(subject) Jeld (5 38 -)

..(object) 4 Jsria S5 28 -V
..(direct object) dlw 43 Jgzéa () <3 38 =Y



..(indirect object) rilw e 4 Jsmie oS58 -8
a. form sl sall 13-
Functions of the Noun Phrase (NP):
1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be
complete (except for imperative sentences where the subject is
unstated).

e.g. The old man is here.
L(NP) I ailda s ) Jaisan o Y1*
Azl oLl 5T "Noun Phrase" 4 Jlaial . (NP) of ales LeS-
Acany) o luall aalisall Cailds o) aalii.-
Lo (Aan gl 5 8il) (1aia 5l Jold) =) [ duaci¥l o jball oY) Aduli gl

One Clause " 13 ) «aled&i muail Jeld zUad aleal) of 4al )l 5 jualaal) 8 il L <3
Jeldl) o) Cum e Jad ol | o JaiSa aad Ixise 5l Jeld I zlisy "sentence
.. [ "unstated - ¢ hias " L S

. psede Y Jeld aa o Y alaall oda 8 >> Go study /die-
L deli ) gliad 5 AV A s (8 S5
The old man is here :JGa-

) «(Nominal group -4sew! 4lea) 58 5 The old man << s 4leall o3 3 Jeldl
L [dell gk 5 aenl dlen a0

man<< (The head -u/_l)-

old 5 The << (¥3ax -

& 0383 LS" (NP) 4pan) Gl bl (e & 53 2 5 (Nominal group -4xes!
ML Gl ealaall

. (Simple Clause Sentence -4Jasull alaall) 53¢} Jeli s " The old man" 13-



2. Direct Object of a Verb

Transitive verbs require an object. Monotransitive verbs take only one
direct object.

e.g. Ahmed finished his work.
pla Jadl udilaal) 4y Jgadal) oY [ R Apand) o jliadl AUl 4duli o)

a oM Jadll ()l 5 csantia Jad sl a3 Jad & sSs 38 45l Jadll (e oLl La 5 S35 21K 13-
s Monotransitive) ¢S5 38 Leil LS5 4Dl Juad¥) o3a 5 c4y Js2de o 5 5iny
.. Jeadilly Bl Laals S5 ()3 (Ditransitive

Ahmed finished his work /Jie-
" saiall galal 4 3Y Jaé - Monotransitive" s 5 Jelé s >> finished

¢(NP) s 13 «(Nominal Phrase -4sul s lie) s& >> his work

The Direct Object of verb "finished" -"finished"J2ill jilw J s284) sl L
The Direct Object -" his work" s La ,ilall J g=iall) ¢
..(is "his work"

b am gl Jlaia¥l s o sSaw allall 3 3 5 aleall s 8 aal 5 43 Jsrda Ll 13-
..la (The Direct Object - il J g2iall) s

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive
verbs. They take a direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)
The shopkeeper sold him some snacks. (... sold some snacks to him)
L Jail pdilaa Ll 4 Jgaiall -¥ Jh dganed) o jball ASHE A&yl gl)-

Ditransitive "= aabises Ll (583 LS 5) cplgaia o (5 gind a3 Jlad¥) Gians-
M sadal) 4005 4w )Y Jldl -Verbs

One " 5 ydluall 43 Jsxidll (e 215 5I"One direct object” 35 Juxd¥) oda-
_).u\_m ).ud\ 4 d),&d\ ) .A;\j 9 L"s\"indirect ObjE'Ct

Lodle sl s e s 80l il g e R o) Y Allad) sda -



(LS A el s8)  He gave Khaled a book - /Jlie-
(Glasll Gy A el L0 The shopkeeper sold him some snacks -
lagia S (8 (Y grie a5 Cilaal) (piila 4
oY) adaal) -
.. J=dll 4 >> gave
a book -Y « Khaled -) << (/¥ széa Ll o
..(indirect object) s Yl s (direct object) s Legie aal 5 13-

zoail aleall 38 re-phrase sl Cllll re-state aukaiog ¢Jend oY) Jaal-
(A Qs ae) s8)  (He gave a book to Khaled) << 13a

c o) Jgmiall (o oS5 Lgilan Jrdll 2ay B pdlie agans) o jlall sl aleall oda o
o8l aal) Jsadall (8 "t0" ae ela (S (NP) Asans] o jlad) -
o ile il Jgeiall 8 >> Khaled 13-

. oALall Js2idll 4 >> 3 book

Qo (simns 030 IS (8 @5 Y LeiS) 5 gl 5a¥1 a8 alenl) i i sale | 23y L%
Ll Gl Y Lpany g L llh Jad Sl

24ll) alead) 8-
.. dadll g8 >> g0
some snacks -Y ¢ him -} << ¥ széa Ll o
..(indirect object) s Yl s (direct object) s Legie aal 5 13-

zail aleall 2324 re-phrase sl Sl re-state ki ¢Jend oY) Jaal
QUSl el sa)  (The shopkeeper sold some snacks to him) << 1xa
MEIEY

L oile il Jgiall sa "him" Ol Jseiall s "some snacks" :llall o2 -
e il Jsaidl 58 >> him 13-

coilidll J s2ddll 4 >> some snacks



4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of
another word/phrase/clause. It is necessary for the meaning to be
complete.

e.g. Ahmed is my best friend.

s, am, are, ) 435Sl b+l ALASA) - b dpacidl o joall day) ) 4 gl

: (was, were, been

[is, am, are, was, were, been] : 055 3 (BE) 43 5uS) Jad o alas LS
..(Past Participle) 2 (=) & "been" Jadll

(Sl Jusl DA e ) JdY) oda A (e alead) dipa W il -

sale 2aLiw ¢o palaall oda ‘éﬁ Gl ye 32e b S ‘é_"d\ 5>> (complement -4.15933«1\)-
OV Ledy s

2 il "a JaE A ["alea"s i 5l "alen 405" o jle 5l 4] 1 A ALY oy e
Lﬁﬁ‘ ["M"a‘)ﬁé }i "é\iq; 4_.\&" aJ\__Lc ji 4.46&5]

il (plad)) JWS) s L&A Aduls o

e zuaius 5 AY) ["aleale il ol Malea 40" o jlall ol AWl cala&Al (5 g T
(S iy O ) O g)) Ui

(== It is necessary for the meaning to complete) / J) s*

complement / s <l sl
(S i) mual (51) irall ALY daga o 4LaSA 13-

aisha gl o3 () s 4l o yualaall & (AT 53 -another distinction) alus®
daga op AL&A f Ladh (SN 5 jualaall oda 8 OS] 5 dlgh e (5SS "ALKA dggl
C'.i\)l.ﬂd\ O Uhas die &);i ["AJA.;"cJﬁ }i "alaa 4" o jle }i M&S] d Lr‘*"d‘ e\.‘u‘ﬁ
A

Ahmed is my best friend /J%s-

4c saxa -Nominal group :4e 53] (NP) 4xeul o jlae & << my best friend -
inall alaiY dagae Lgd FaLEE Ll Liale (o€ alili el allall 028 (8 4 5 ([4an)
Ahmed ) :Js& o LiSey S (tnal) JeSY Lealiai Ll (o))



s G zUsd o( "Ahmed is" = Aeall sled) WiSay (g1) laall oleil ddads 3lad & (s
L Mis" A gl Jad g Jelall el J& S

L zoaiv alaall g ¢ Sinall aAa&s e zoaiv dlaall (my best friend) 52 (= 1l
ey

LY é_\kn_i IERPER! c_ualw Ja alaall o2 Lﬁ (NP) A1 ke 130-
.. (is) 45Kl J=81 5 (Ahmed) Jeldll &% " my best friend"-

Note: When the complement is a noun, it must agree with the subject in
number and gender.

Ahmed is their uncle. (not “uncles” or “aunt”)
Sarah and Huda are their aunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the

complement together.

In this case, the full verb BE is called a Copula (=something that joins
things together). There are other copulas in English, for example, the__
verbs “become” and “seem”. | ABsale

~~~~~~~

ool g aaell (8 Jelil) e 5 G 20 Manl" Al&AD ()5S Larie

Ala 8 uinll 523l 8 a0 Ughay () ongy Laa DS calz&Al el 5 Jelall @bl 131
..(Complement of the Subject +BE -4 5l Jad 5 Jelill 4iKA))

o [ Gl olagili ] Guiall 5 2aad) o5 S3-
el 5 aadl /i < aaal)
olae — 83— i /Jie < uial)
Ahmed is their uncle -Y/Jbs
S35 38> Ahmed : of Badl

SY 53 54 > their uncle

s Joal) LSy Y
?13ld "Ahmed is their uncles" *



..&=> (their uncles) s 2,4 (Ahmed) OY-
ke Uy o ¥ e sy 13-
13l "Ahmed is their aunt™
.8 e 3 (their uncles) s SY aul (Ahmed) OY-
LSS o cpY) ey 1AL
Sarah and Huda are their aunts -Y
3l 5 aaa > Sarah and Huda : ¢f L3l
3l 5 aex > their aunts

 JsAl WS Y
?13l! " Sarah and Huda are their aunt" *

their aunt) s aes Legdl sl Gaads e o jle (Sarah and Huda) oY-
cAA
RPN
Lo S o oY) ey 13-
(" aunts" A5 gen S5 Al&E ) 4alsy "Sarah and Huda" of ¢sf)-
$13ll " Sarah and Huda are their uncles™
«05SY e a5a (uncles) s &Y e 2523 (Sarah and Huda) oY-
LY e gy of cui) e cany 13-

(S e 353 L " qunts” LS ) aslas Wil )

- ~a

Subject + Be ] "4en! o jle () 5S5 ALSAN" [ 4le&h 5 435S Jnd 5 Jeld ] Lal oIS 1%
g2l 3 Jelal) aa 8 O cany "ala&A) s 9"aan) o jlalld [+ Complement
e painl)

L ale&Al 5 Jelal) e Jayy 8 Jah andy JUall 138 8 Y] 45 53Kl Jad®

QAT Jad aa 0 Y Y aelise Jad Gl 5 onlad a8 Jaall oda 8 () 6 45 50S)) Jad*
(e Tl S Jany 4l (1) Lae ali&A) 5 Jelall (ge DS Ty 3o o)) 5 4land

."copula - Ll Y Jedll" Leny (s 43 53Sh) Jed) adlall o2a 8 13-



o siY day e e 1 A" copula - da ) Jadl" ALK e

<4 [copula] = (is, am, are, was, were, been)"Be" s 43 51l Jed 131
.. dasd "Be"as il Jxd + Jeldl al&Al Al

i Sl Jad e 4y lai¥) aslll L AT (copulas -4k Juadl) ia*
[N Jie

become-

seem-
Ay sl 8 dal S Dlany Lea Dladll lda-
Of aSie Gasllaall (K1 g0 pualaall a2 b o Sladl) ()3a o alial 153805 o /) Sall 5
LN Jad e g AT Tl 5 llia () h e

5. The Complement of the Object

e.g. He found Faisal a good student.

In the previous example, the noun phrase “a good student” is the

|II

complement of the direct object “Faisal”. Compare the examples in (a)

and (b) below:

a. The teacher found Faisal a book.

The teacher found a book for Faisal.

b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct object.
The sentence means that the teacher looked for a book to give to Faisal.

III

In example (b), “Faisal” is a direct object and “a good student” is a

complement. The sentence means that the teacher thinks that Faisal is a
good student.

T As Jordall Ala&Al) 20 Ig“ Aca) o jluall dualdl) Aduls ¢li-

csrall Ay aga g ol p ALKAN G (5 ST LS



He found Faisal a good student /J%« -
Jeldl >> He & Ll

J=dl >> found

il 44 J g2aall >> Faisal

" Ol Sy 43l Ly i=ald (He found Faisal) :Jsi Lexie (JaiSh ye nall oS5
LOaSA e allal) oda i xalld (1S ¢ 1S "Fajsal” o &5 4l 5l 1% 5 1X"Faisal

odag & e ala OIS Jeasd G Cusy "Faisal” a5 40l Lia sl Y-
saiiny L i ¢(He found Faisal a good student) Ul (Fxall g8 (pud 138 o Y
L il 8 "Faisal” Of 4sdsiy Sl (sl

L&A 238 (53 (e Y"Faisal” 4 Jsriall &4 o (a good student) Allall o3 -
LGaiSa 05 Ol Sxalld

..(a good student) 4ues¥! s jluadl ¢ s; "Faisal" 42 Jsxiall JaiSa ()5S o el 131

¢ (So to state we said here again - a1 5 5 L slill Lo o i) -
Akl 43 Jpiall ali&4 (3 good student) 4xen) s jlall silid) JU) 8
.."Faisal"

:JaYL (b s a) 8 Al o8 falia¥] (any o jliin gll LB L e o il
The teacher found Faisal a book -a

The teacher found Faisal a good student -b

O Lan ol gl) 8 (ST 5 ligiliie Leghl Ul muuzaly (lileal) (lila-

paleall i i amin () (8 (Y Al -

The teacher found a book for Faisal

il QLS e Giad Cad aleall 31

: 4loadl (a5 mis (b) (o8 Al Alal) i

rds O Wiy Db ¢(a) dlaa (e 4dlisg 4aleall oda-



The teacher found a good student for Faisal
LA Le 138 Gl Y ¢ diandl aall Gl Jasy 5 dia allla e Caaall caady ol g
Dl h e g i sale) LiSer
The teacher found Faisal to be a good student
i Qb sa Jead (b "o iny sgd-
= Sl C)':d*
. o8l e 4 Jsie s "Faisal” < (a) JsY) Jadl -
.. il 43 Js2ie 2 "a book"
(LS Jem el 8" (el LS e )
il sllaef 5 QS e Cuny aladl) of Sind aleall

o 205 4 Jsmie Wl Q) 3¢ e 4 Jsnia 8 "Faisal” < (b) U Uil -
Al ol 5 (b) J5d

."Faisal" 4 Jsxill 44 4 "3 good student”

Clla s Jaash (o) ainy aleall ()] e alaad) o U S5 LS

6. Object of a Preposition

n u

Prepositions are words like “in”, “on”, “of” and “off” which are normally
followed by a noun phrase. The noun phrase that follows a preposition is
called the object of the preposition.

e.g. We arein the same class.
He walked on a high platform.

In the two examples above, the noun phrases “the same class” and “a
high platform” function as the objects of the prepositions “in” and “on”
respectively.

: ol el Jsnia =% [ dgan) o jlall Al A&l -

NP dgassd o jlns g 3ale A (in, on, of, Off) /die «lalS o sall Cag ja-



el Lot 4y jall el < ) G sl Jgrde oy gl Ciya 305 Al 4anYl o Ll
sl

ol Goal Jgmia o "dadll J paia” aleall Jgada 5% 38 43 Gl G-

..(Object of a Preposition -_all Cayal Jszia) & 4adasll 5 (NP) & 4xuall 13-
oall Caal Jpmia o Lgiiida b ja Ciya 2ay (NP) ands 131 130

We are in the same class - /JGs-

..(The proposition — Jall < a) >> in

(Object of a -_all sl Jsia) (A 5 (NP) 4xensd o jle & >> the same class
..Preposition

Dtall dlaa 403" (PP) Lsoaall 5 Jladl 3 jle agaans >> in the same class
LMool

He walked on a high platform -Y
..(The proposition — all <@ ) >> on

(Object of a -_all s al Jsnia) (A 5 (NP) 4xensl o e & >> 3 high platform
..Preposition

Dball dlaa 403" (PP) Lsoaall 5 Jlall 3 jle agaand >> on a high platform
LM osoaall

:(So to state we said here again - Al 5 e Lia oLl Lo xyia 5il)*

a high ) s (the same class) 4xen¥) Gl jlall ¢ eV & Gadll) Gl b
(&'sV e -respectively) (on sin) sall s ad Js2éeS (Sleny (platform

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or
thing as another noun phrase (NP) that came before it.

e.g. Your friend Ahmed Al-Ali is here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in
apposition to the noun phrase “your friend”. Both NPs “your friend” and
“Ahmed Al-Ali” describe the same person.




We will talk more about apposition, including apposition types, in the
next lecture.

p A Msan) dlas Apd" dgan) ol Jad) 2V [ A dgand) o jladl dsluad) Adds gl

A dpaul o JluaS o L8l Gl 5l et Coay apenl o Jle 58 1 Jaal) Ly i
PP o et il Caat 4Bl 4 o bl o @) Ll Cels ) o jlall
(DY) e s ) 8 ) KAl

Loandll st e g)s gat LaalilS Ll Gela lisand ol jle Lial 131

sl sl (and, but, ... etc.) b Gl ¢oan¥) G jlall Gn gl o o5 @lia Gl 13-
GGJj (‘_A}‘Y\ 43\&.»‘)1\ ajt_ud\)dj‘l” (-u.n‘).“ Az ‘;“1\_1 Lﬁﬂ\ (4,.\.1\:15\ w‘ﬁ\ aJLud\)Lfa\ﬂ\ ("“y"
oY) A o jlall Yy sy "l

Your friend Ahmed Al-Ali is here [JGa-

..(The NP) (I s¥) 4aau¥) o JLall >> Your friend -

.Jull a5 ¢(The another NP) 45tll 4euY) o jlall >> Ahmed Al-Ali -
L oadll Gl e lagai Lagl 5 s AN axiliia liels LaalilS -

. Your friend 2 Y& Ahmed Al-Ali -

(Apposition) s (O} < s s (Opposition) o 188 1 L giSall L8 ads gale*

sagaiabhy & > "Apposition" (AR Gy )
Lo o (o DAY iad a5 Calida Walinad > "Opposition” ) Lel clia Ll <3 )
LA P

..(Apposition) < (A) < fas Al & Ui a4y gail) aggda ol () 1 sdaad o cangy 13-
:(Just to state we said here again - a1 5 5 Lt sLili Lo graua 5il Laid)*
.Ju s (Ahmed Al-Ali) - ¢l JEal) 3

.(Your friend) 4xs¥) o jlill Yo 58 -

O’ (Ahmed Al-Ali) s (Your friend) (e (i jlal) UK -
A i)



o palaall A sall Cagn g5l | el Gaca e 5 sl g s (e SiST Caaainu
Al

Exercise:
Choose the correct function for the underlined NPs:
a. Subject b.Object c¢. Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) 4l 4 L -\

Jeldl >> His father

J=dl >> gave

.. (gave) d=ill 44 J 280 >> him

.. Laif (gave) Jaill 43 J s2és >> some important advice

dlhe e AV 5yl Laalas) (Y gria Lial Ga T3l

Al Jsaiall s T3 ((some important advice) s kel 52 o 2l Tai-
..(gave) dadll Hilw yne 4 Js2ie >> some important advice -

Al el sl (el sy (gave) Judll Ldla e 4 Jsaie >> him T2k

5 e el L 5 Al Gt il U gl alead) s i ale ) LiSad -
D Jd ila a5 alall J saddl)

His father gave some important advice to him
o 8he 4 (e g8 gl iy 54y J e 4 >> (some important advice) 13-

Jymia 4l J gl A 1A Gald IS5 Gl 5 ale (S8 aila gl g8 Jlsad) (& o sllaall
b. Object s <l sall 13 ¢ yilaa e ol yilae adl &5 504

2. Ahmed’s uncle lives in Riyadh.

..Jeld 58 5 (NP) 4xeml o e 92 >> Ahmed’s uncle -Y

d=d >> |ives



..(Subject -J=\8) 5 (predicate -4d) diwa) ) Fliad alaall Gf alas LS -

Ahmed’s ) ) a4y Q\J\._Ud\ 5 Ao Q\J\.}G sale ujs.i Jdelall allall s2a Lﬁ -

ool a 1Y (JeliS Jaxi & s (lives) J=dll Jd caela S 5 (uncle

Ahmed’s " Jeldll ) saiua Ll (¢l (predicate -4d) i) & >> [ives in Riyadh
.."uncle

a. Subject s <l sall 13-

3. Ahmed’s uncle is a successful businessman.

$¢Jeld (a successful businessman) Ja -Y
Ahmed’s uncle < s& 5 La Jeld lual sy Y -
0905 5 Al i "js" 4 Sl Jadl U g2ie (@ successful businessman) Ja -

131 () i e ol pad it Glisand Gk a5 Y 4 Ja Gl o @olalls -
Ll e

i 43 il Jad g Jeld Lipal IS 13 W LSy cala€Al) 5 Jgniall tlaa ol Ll i
(SN a8 aay (g) ) pamy &S )

oo AL&Al allall ol 8 (Mig" aay ali&h ) zUad >> (Ahmed’s uncle is) -

.." a successful businessman" 4xu¥! o Ll

A&l o3a 131 caleall elgiil Ak aumi &5 (Ahmed’s uncle is) Jsis of adains Y -
«(The Complement of the Subject +BE) 4L&Al Leaausi 13¢] 5 Siaall Ju&i 4aga
c. Complement s& < 52l 13

4. Khaled has a lot of books in his room.

.. (NP) 4xeu¥) o jlall >> his room -¢
o Gl A o e Lial S 13) Tl W LS 5 ¢y Capm Gals (NP) of sl

b. Object s <l sadl 13} ol (o al J seiaS Joxi gild s

5. The teacher gave the students exercises.



Jeld >> The teacher -°
J=d >> gave
..(gave) Jadll 44 J g2da (oA g 4anl o e >> the students
..(gave) J=ill 43 Js=ia 54 5 2l >> exercises
..(gave) daill Y sria lela (el Lal -

: zoal] alaadl i i sale) WSy -
The teacher gave exercises to the students

L8l 4 Js2ia g (gave) J=8ll 4 J ;2ia >> exercises -
b. s lsall 13« ilie e 43 Jsmia 585 (gave) J=ill 43 J52ie >> students -
Object

6. My brother Saleh studies at King Faisal University.
..(Nominal group -4xu 4c gaas) lee si caaanl o e >> My brother -1
..(Proper Noun — ale aul) lee 5 caanl o e >> Saleh
A (el o () s Laa DS 5 alliie fela 4aan) o jladl &1 530 (e ole i -

Gcﬁ ¢haariall P\ 1al c"l\/|y brother" 4de 2 gy L.,Sm il ) L;c J g2 "Sgleh" -
..(Saleh)

o e agry sa g AT aul e el and 4 ((Ju) o 4Adi) L ghaddl auY) -
d. Appositive sl sall 131 O3 a¥) (s 51" AV s dgle 3 sy 3 s il

7. The manager found him a hard working employee.

9] a hard working employee ] 4&las & L -V

5813 Gad Y 90 gl aging ale e Gnad and paaall o aleal) sda ina b -
b e ) iy paall (o (& aleall 03] rmiall Jiaall - aleal) sdgd pmiall inall
e dale

Lodlbe ela B 3" him" << sa 5 aal g 4 Jsrde Lol Ll

.4 Jsxiall &4 4 i Jsxie Gl 8 (a hard working employee) 13 -



s Js88 alaall o8 gl yisale) LiSay -
c. s <l i3 ¢ The manager found him to be a hard working employee
Complement

__J}M\JJ\;S\EJ\.}GQQ}JJ.}MQ&MJ&\ a‘)m\a.d\‘éﬁa_m;l\u*

¢ (Complement of Object) s (Indirect Object) Csjﬁ oS [J) s
i) Lga sgie Taluiiasl g alead) cagiyi salely e sl

Types of Apposition
Jadl &1 g3l
Judl £153 Types of Apposition :

In Lecture 6, we mentioned that one of the functions of the noun phrase
(NP) is as an appositive. We defined an appositive as a noun phrase that
describes the same person or thing as another noun phrase that came

before it.
In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

o3 8 ST Sy die Caaain g ¢ Al 5 palaall 8 Jadl BAAT ¢y 5 S LS-

8 lall Caila g an) s gdddag o Jull o Wl LS ¢ el @il SN G ¢ 3 pealadl)
..NP = uh)ah\ :Q.A.m‘}“ EJ\._UJ\ 9¢ ng.uy‘

Agand 3 laS ¢ Ll adi gl Gad i)l Caiay dsanl Ble 58 1 o Jad) Gy e LiSan-
sl (a5l Gaddl) i Ciay aganl 3ol 8 6l ) L LelE el il 5 ladl (5 A
(Y A B Ll 8 <Al

i ¢ A8l Gt Gliat Ll 5 o a1 ey Sl Laalaa) (el (5 jle Lyl 13-
o Gl 406N 3 5Ll f ST ¢ (and, but, .. ete.) S s sl dald Legin a0 Y
cst Y B Ll ity Al e Al (asil)

Ldal g il il 3 jualaall sa i
(e ) By ¢ ((22aa ) Mbe S0 A Jadl-

(et e andl wmg ) e i) e 38N g g restriction o o253k restrictive -



A. Restrictive Apposition

e.g. Your friend Ahmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of
the first NP “your friend” by giving an answer to the question “Which
friend?”

We call the NP “Ahmed Al-Ali” in the previous example a restrictive
appositive.

Note: In this type of apposition we do not use commas before and after

the appositive.
p Sal) Jagl) -

Your friend Ahmed Al-Ali is here /Jis

4aaul 3 e NP << Your friend

Ju o8 5 4l 3 e NP << Ahmed Al-Ali

(oY) Azans¥l o jlndl ey el Al dpai) 5 jliad) ) Laguianad (ulitia lela Laa DS
.. ‘_A};\}“ b)\.u.l\‘sﬁuu/ajggﬂ\ UALA'J\L).ASJLL\S.LA}L@-}Y ddﬂ\‘ﬁ.ﬁé\:\.\u\ DJL_\:J\_

(el 235 ol inall 58 ( Ahmed Al-AlT) 45050 4an) o jlall Jal) 138 5 -
Y e o jlall

daii 3 )e Gaaa (sl e Coati W) (Keall (e ¢ 5So (A friend is here ) Gl 13-
@) o s s el Jlusd ia Jaine (5585 8 aa ool 13 ¢ (&) L cadla caeal calla

. ( CGa

asanYl o laall UXAA (a5 Uigd (- Your friend Ahmed Al-Ali ) : Jss exie (Sl -
. (Ahmed Al-Ali ) 430l 400Y) 5 ,L2ll ( Your friend )

ozl dia g3 1) Sl sl ( Ahmed AL-ALL ) o -

(932 Jy ) S8 Jy e ( Ahmed Al-Ali ) Alsl) o3 3 T3 -

o da) a5 08 Jeal 8 aadid ¥ Jad) e g sl 138 8 At gala

. Jual b odny 5 ald aa 50 Y ( Ahmed Al-AlT ) Jad) of Jiall o ) glaads 1) -




.. Cal géll PREGARE L";\:A\ &jﬁ\ -
B. Non-restrictive Apposition
e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is
unigue and does not need modification. The second NP “your old friend”
does not tell us which “Ahmed Al-Ali” is here but only adds information

about him.

We call the NP “your old friend” in this example a non-restrictive
appositive.

Note: In this type, we use commas before and after the appositive.

T VRT3 g K

Ahmed Al-Ali, your old friend, is here /Jis

4l 3 e NP << Ahmed Al-Al

Ju o8 5 4l 3 e NP << your old friend

(s Al o lall amy el 4l L) 5 5Ll ) Lagazandd Gl lels LaaDIS-
sl o lall  Caay Al (sl (i Cidea s LY Jad) e 4l s Ll -
Ahmed ) ¥ 4an) o jlall 22y Sels ( your old friend ) 438l 4! 6 jlall -
.. (AL-Ali

(el A Lg\) el i) ( your old friend ) 434l 4! o Ll JUad) 12 & -
.. L;}‘).[\ WY\ cj.gaﬂ

5 «( Ahmed Al-Ali ) = Glay Ll Ui sliled La (&1 5 galaall JUiall aliie JUiall 128-
..( Your friend ) 2= (Ahmed Al-Ali) sls 28l Jal)

el Y A 5 mamaa aul 4 ( Ahmed Al-AL ) 35Y) 4sansY) o liadl callall e i
uaad gl Jaans )zl Y 5 (e 4 b il i Y s8as il ) o

Giaa (sl —Which old friend? ) :Juiu «( your old friend ) : il J&; Lexic-
(S8



Oire (add 8 Ahmed Al-Ali o) s slai ( Ahmed AI-AlT )+ €l Qi Laie o 5
4aslza o o e 2 (your old friend ) O 1) gl iy (852
3t s ) gl T gm0 ol 3 S8 (53 il 0n (o 5 4l
.. odny g Jall s d"gd“\ﬁhmjj(aﬁﬁ)_\;&;

RALER 41@ dm‘jﬁ L'\:_.'Aj 9 J;\éja P dd.i R ( your Old_friend ) ;\J‘\_
ol de g i Jeal g8 andiid Jall (e g gl 13a A radsgals
Exercise:

Decide whether the appositive in the following sentences is restrictive or

non-restrictive:
b. non-restrictive a. restrictive
1. The shopkeeper Othman is a hard working man.
4 3 lie NP >> The shopkeeper -)
Ju 8540l 3 )ke NP >> Othman
(s Al o lall amy el 4l L) 5 5Ll ) Lagazandd Gl lels LaaDIS-
coe I bl 8 Caa g A il (i a5 LY Jadl 4 4l o jlall -
..J% s 13 The shopkeeper 2 sls Othman-

@l &) i 38 Ugd ( The shopkeeper is a hard working man ) Jsi Leie-

« shopkeeper
.( $2a8 &l (51 ~Which shopkeeper you mean? ) :Jus

Ligd ( The shopkeeper Othman is a hard working man ) : Js& Lexie (Sl -
GQA; o ua;& = Ghaaty Caa u‘}ﬂﬁ c‘;‘}\kﬂ 4_1.0..\.»\2“ aJL\ﬂ\ ‘;A 353 Lg.ﬂ\ ‘5\:...43\ \_1.3:5
. &b s s 5 Othman

a. restrictive s <l sall 13) ¢ Jis Ju % Othman 4lall a2 8-
2. Dr. Omar, my Linguistics professor, published a book.
4xanl 3 ke NP >> Dr, Omar -Y

Ju oA 5 4l 3 e NP >> my Linguistics professor



my Linguistics ) 4xlll alel 5y 5ud 5 3 58 5 ( Dr. Omar ) = Jsads s Ll Lia-
o Qlrend U e U ¢ professor

3 ¢l (' my Linguistics professor ) s 4 s¥) 4xau¥l o il s ( Dr. Omar )-
Al ) o slall 52 13 YT anan) o jlal)

( Dr. Omar ) Ul ¢ iaall 28 5f 343 Y 4551 5 Ju s (- my Linguistics professor )-
U5SAl g4 (0 —Who is Dr. Omar?) sl ol sl Gad il s (e alas (i
ARl alal ) guds 2 8 Dr. Omar Dssd sl O Glalay aaisall 5 Caaaiall ¢ € e

b. non-restrictive s «lsall 13 ¢ J& e Jau 4 ( my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4seul 3,e NP >> Majid and Saleh-Y

445 axeul 3 5e NP >> my cousins
e Lot Ly (e g L
..( Majid and Saleh ) Jausaall Glew¥) 3 5l 253 Y (' my cousins )-
b. non-restrictive s «lsall 13 ¢ J8a e Ju 4 (my cousins ) edlall s2a i -

Prepositional Phrase
Dsoaally Jladl s le

292lls Ul 3 Le Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is
followed by a noun phrase (NP).

e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional
phrase. It has a preposition “in” and an NP “the classroom”. The function
of the NP in this sentence is the complement of the preposition “in”.

A preposition normally comes before an NP, but it can also be separated
from its NP as in:



e.g. The manis standing on the platform.
What is the man standing on?
The platform that the man stood on was very narrow.

However, in these examples, the association between preposition and
NP still exists.

sy Jall s e I Jatiie Y-

EOPR i VOV S PRL P EF Pt RO A SRS PREON PRS BN} P AL S8
cosoaalls el E ke Ghey sall Cia s apanl) s el 0 SIS Oall Gia

1oad 13) elae dgansd o e 5 ox i asay il e (s nalls el s ke 13-
(osoaalls Sl s sle Jals L agal o e Wl ail ) ) oAl s le Jalu o jle 25a

. NP 4saul o las ) 23 cpdll ((in, on, .. etc. ) o o al WS all Cag ja-
Mohammed is in the classroom /JGs-
o osoaag ke s le (A >> in the classroom
.. A A >>n
4l o jlie NP Lirua >> the classroom
4renl 42 5030 Nominal group _lee 5
. (in) ol Capal Jsmie Ll oa aleall s2a 6 4ganl) o jlall diydn o

5 4alSI) 28 | g83a) (U (complement) s 5 Lj;..\lzu\ ok aa g il )SS Sl Lia
..l (object) ) s

&WY\DJM\M.ﬁoﬁ}cWY\onﬂ\dﬁgﬁigﬁ\Q}digﬁgﬂ\w-

(Asanl oLl 5 el (o) Lagia SIS Lual J5Y) JEall i

The man is standing on the platform

3 (Object of the preposition) Jall < sl Js2éa 58 >> on the platform
LoalalIS pulliie Ll Legia



1S4 Jua)

What is the man standing on?  /Js& 3
Ldaol ade Caig e o ol 4 Jndall e Jhs Lia-
oaleadl oda & pelai W (aaew¥) o jlall) the platform-

O 1) 25m 50 J1) Lo agin ol i cllia oS3 5 ¢ all Gooa e aliaiio apanYl o jlall 13-
el o jlaall el Galudl Jlsadl e caglad 5113 ¢ apand) o jlually sall Cia
22354 (the platform)

..He is standing on the platform >> S o sall 13-

oal G g asenl o bl cp dayl 5 @lia J) e Dhad 13 -

) JULad)

The platform that the man stood on was very narrow

. ba caaniall Aclause oy (Saall e-

(s on all i Ji Cels The platform asen) s jlall-

..(subject — Ixiw) s 138 JS" The platform that the man stood "-

Ji Ciela Loadl dpans o lall 5 caans) o lall (e jaldl Coya liliad JU) 138 ae-
Lol G

350 Lo Ja 1 S0 5 gm0l e sl i L il 1 YA (imny o3
(an) 5 o2n 5 V13l Lagis 2 s

However, in these examples, the association between preposition and
NP still exists.

Prepositional phrases can express a number of ideas, including:

1. Place e.g. The book is on the desk.

2. Movement e.g. He walked to the mosque.

3. Time e.g. | finished the exam in one hour.
4. Manner e.g. He finished it with little effort.

5. Purpose e.g. This message is for Ahmed.



6. Agency e.g. The window was broken by the young boy.
(Passive)

7. Instrument e.g. | wrote with a pen.

cosoaall s Jlall il jlal Clelad ) sy ) oY) 6 ka3 8l

rdadii 5 JISEY) (e e Ge iai s aall 5 Jlall & e

Ol >> Place -)

osoaally Jlall s jle aladiuly b o i) lSe (e duyaal) LiSay-

The book is on the desk /JUi«-

Llee sl O8a e Uyuan PP soaas Ul 3ok (2 >> on the desk
W leeod OSe e i 5oy Jla 3 le (& on the desk 13-
SRR — Qi) >> Movement -Y

He walked to the mosque /Jtis-

- el ) oa 138 ISl 5 lSa ) a5 Ja Le il (JEEY) e jiad o La-
.. (the mosque

LR Q) e ol Ay s 9 a3 e A >>to the mosque-
) — cd gl >> Time -V
| finished the exam in one hour /JVie-

5 e sobe (A 1Y) QLAY el ezt Al 43l o 5l a>> in one hour-
LSS gl el e e s e

Al — L Jee b e gadd d gl — bl >> Manner -¢
He finished it with little effort /Jtie-

i g may i sbe o 13l e il 13gd o 5lel 44y yha <l >> with little effort-
Ll dae il padd dila o Gl e

LB aga OIS Le g ol ailgd) A8 yka 13-

G — 4l — (o £ — 4adll >> Purpose -°©



Lo ¢ S Jaad dling of clalaial sala - §adldll 12a < (< 2 Ja " =5 1 Purpose-
"l o e Jsandl

This message is for Ahmed /JGe-

Do padll s )l A 5 somes e 3ke (& >> for Ahmed-
(2 kel o g oa e o JBaa) deal o sl ) All )l o2a 13-
La g i aa) ddaud gy — adauil g - 4S9 >> Agency -1

all) 5 (passive voice — J seaall Juall) e alull aSSlal (e 5 SH LIS 13)-
& Agent ) Al oSS Jsgaall sl ) ) siaded 38 ¢(Active voice - asieall
by all G aladtd Al 5 4l

The window was broken by the young boy /J%s-
.. 028l (Jaa < sa the young boy-

« The young boy broke the window : Js& (Active voice - a staall Sudll) A
. pslaall dine aleadl Caela Lia

Jeld >> The young boy-
.4 Jgaiall dlans 5 (The window) 32 (Active voice - astaall Sisall) S -

.. liwall adzas 5 >> (The window) 30U (passive voice — Jseaall isall) 8 oS-

45 51Kl Jad >> was
past participle >> broken
Jpmill sl —
LS (Verbal grope — 4dsill 4c sanall) £1531 (50a) 4 BE + Past Participle -
O3S

Aala€a alea LY alie Glia Ll «The window was broken :J s o)) (Saadl (s -

by ) 4 L_Sk 4 The window was broken by the young boy : Js& laxie (Sl
J=é 53 "The agent — JiS slledalall" 5 i &ll U S3 8 (4 &5 (the young boy
(3L aaad 5 5) Lia Caaal

sS4 - Agency) ) o i somas Jla ke (& >> by the young boy -
- (a0



803l >> Instrument -V

A e e Jead daading o 8 (gl ) 48 jhae -y Q18 /e

| wrote with a pen /J«-

.. s S 3108 3 pen ceasind 13)-

L3I e iS5 me 5 e sole & >> with a pen-
Exercise:

Choose the meaning expressed by the Prepositional Phrase in the
following sentences:

a. place b. time C. manner d. instrument

1. My office is located on Riyadh Road.

93al- sll- e (S oo Ja Sl o Sdll ale >> on Riyadh Road -\
a. place s <) sl 13) ¢ (e 4l eazal gl (g -

2. He graduated college with a good GPA.

51l bl (ya - & b Sla oS3l ale >> with a good GPA -Y
c. manner s ol sall 13 ¢ alla 43l

3. He fixed the door with a hammer.

with a hammer -Y

Oaline Cpine I3 LegiSD 5" oY " IS 8 jall e i L) Ll L | slaaY-

( He used a hammer to fix the — <Ll Z3laY 48 jhall aadiul ) ¢ 3laf g -
..door

d. instrument s <l sall 13-
4. They will visit us on Monday.

931a1- slul- e -l & Ja Sl o Sill 4l >> on Monday -¢



e sl g ) aadally
b. time s ol sall 13 ¢ V) a5y 8 9 e sy 5

5. The artist finished the sculpture with great talent.

93lal-c sl (e -8 o8 b Sl o il ale >> with great talent -©
Lo Ay dadac 4 ga (JEa) 43 sl il sa 1Y) ¢ Le g il alla a-

C. manner s <l sl \J\ ¢ 45 gaiall ‘5@_1\ aadac :t_\A}u-

Functions of the PP

Dol 5 ol s jle caills
.A;Lu.n u‘).“ S «NP @MY\ b)\._t:d\ L_Q:\Lbjuc Lu;;ﬁcmb.d\ a}a\;ﬂ\&u})s.ﬁus-
PP soaally Jall s e ailh

bl gl g akpall (Ll oS oS3l caila gl sda ) Gk o J-
..(word-phrase-clause) 4l 4 sedas 53 edaall 5l JKAN Lo 4isall-
4Ll 4 (word-phrase-clause) Ul Jasll (e 0 jlie 4 1aduli gli-

C PP @ila g e Ewnaall JeSs oY) o-

2ol g 3 e il sFunctions of the Prepositional Phrase:
&1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information
about another noun/phrase/clause. It is an optional part of the
sentence. If we remove an adjunct, the meaning will still be complete
and the sentence will still be grammatical. It is not a necessary part of

the structure of a sentence. Adjuncts are usually adverbials.

As an adjunct, a prepositional phrase is considered an adverbial phrase
because it does the same job as an adverbial.

An adverbial is a group of words that does the same job as an adverb. In
other words, adverbials can be used to say when, where or how

something happened.



e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where
something happened.

| finished the exam in one hour. (adverbials of time)

This PP is an adjunct that tells us when something happened.
He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.

p Y Al

. @lﬂ\ -\

LS 0SS s paally el el e T3

Oe 4ilia) 4aslaa 238 5l 351 (Word-phrase-clause) o sl st 1 Uil Gy gaiie
.53l (word-phrase-clause)

5l ¢t Q8 ey ¢ AlaKAl Jia alaall b (g5 i a5 bl 05 Al 13-
AV

B OS¢ il (&8 LY Lgaladid camy 5 4y )5 pan 4LaSAN G LB 4l 5 jualaall -
gl e (e o le 43 aleall 8 4Ll die JWS) dlee (ol an 5 Y )

plxgind (Saall (e T3] Malaall & g Lia) ¢ Ga " (el Y Gutl) sobaa) ()5S il
o Adeall (g

Mgl el e A 4 g i Aleal) 5 S e el il B 13-
M\@ad‘:\.ﬁu&J})‘:‘}r—g)}@tﬂ\-

a2 adverbials 4 (i 3 paialle o jrin ¢ "y s — gdverbials” ¢S Bale ol 51l -

gl Jeo (i Jand LY 485k o L€ Jalad 5l 825 g jmall 5 jlall 3 e ¢ oS-
O 4kl o jlall Alelaa Jaled Lils "l 5 saaly Jlall 3 jle dida 5 )5S Laie (51)

.. (adverb -dall) Jae (s Jaad Gl G (0 de sana A 1 48 B1-



;ﬁa(qgs}wij@)&uﬁus@;du\‘dgmdu\:,_m 52 L () galad i
PP FLIPCP LI

RS Jalad o) RS a5 5 )y Jlall @l jle ddda g () oS5 Ladie-
The man stood on a high platform /YJts
o Waay aleall elgil ddadi pumi O (Saall (0 5 4liSa alea 4 The man stood-

Ol T Jsiid (bl e Ll 38 () S5 (0N a high platform) e Ll 13) oS s
LCaaall 4 Gas oA (Sl Lidial 38 Ligd € Cad

Cldidagg ey may sl jle Lghha ¢ 4il&a 48 )l & >> 0n 3 high platform-
e saleall 8 s e alill ) LB LS ¢ Lo g ol Cugan (S e U yiy 4
- odbagivd (Sadll

| finished the exam in one hour /YJGa
.. 4l y 438 41 508 >> in one hour-
connlgacl dslgl 5o 13 ¢ oo L gd) ) axia 3l o i) e U jas Lgila-

s eadaadl (e laabasinl Saall (e caall & 5y 53 5 ka3 Le A >>inone hour-
silml e alasll Jeay Lo sa s

He finished the exam with little effort /YJbs

L ( Manner -l ) e J3% >> with little effort-

Lol e Ul A0 JEal 13 8 Lese 5 AT eyl Lual Ta)-

(O g ol € LaaY) Lol (a) (e e Casan 38 (e Uiy ool Lia 13-

&= 5 He finished the exam : Js& o} WiSey 43Y a5 s >> with little effort-
..o adaad) lg) ddags

Note: Compare the definition of adjuncts in this lecture with the
definition of complements in Lecture 6.

A complement is necessary for the meaning to be complete. If we
remove it, the meaning will be incomplete and the sentence will be
ungrammatical.



An adjunct is not necessary for the meaning to be complete. It gives

extra information. If we remove it, the sentence will still be grammatical.

:&}Aln
o LL_S3 ) LKA (o emlaall oda b LS i) ol sl (i
43.\1...»3\1:)4\;.0]\

LGah il raad 4 )5 pm SUSAN (O dsalid) o jualaall 8 Ll LS
O ) (55 of La i 13) cd&all ) b 13-

LA e OsSie alaall 5 JaiSe 2 ()5S Sl JASA) Uaedinl 13-
Ailia) daslae Y aall JWSY (55 e ) el sl Alls 3 Jilaall ¥
caleadl o) ) daslaa () 5S) 2l

il s (Ll 4y gad i aleadl 5 5 Y s LS Ll inalld ol Laeiad 13)-
Lo Y L LS ity alaally el (K1 g ailoa¥) da slaal) Stdia

LY g g e ) g calaadl 3 el JLeSY 4y 5 g LKAl T3
2. Complement of Subject +BE
e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the
complement of the subject “the book” and the main verb to BE “is”.

D op 4l 4l )
20 Sl Jad + Jelall ale&s -Y

Lgtiaa g 0 55 08 Apansl ] o jlaad) () LB Ll ) 5 5S35 LaS Al o jlaall aliia & 5ill 128
.. BE 435081 J28 + Jelall aliSi

The book is on the desk /Jt«
Jell >> The book
..(main verb — bl Ja8) 58 543538 J=d >> s
LSS Ll g0 gme 5 ola B le Ldaua >> on the desk

LaiSE e inall g Waliaaginl LY alalh Gela g paall 5 lall 3 ke Lia-



o s alaiSa pe alaal) ) oSin aleal) ol Aadi L s o The book L 13 13-
LA

3. Post-modifier in an NP
e.g. Thedeskin the classroom is covered with books.

In this example, the prepositional phrase “in the classroom” modifies the
noun phrase (NP) “the desk”. The NP is the head and the PP is a post-
modifier because it comes after the head.

p oh A3 Ak )

T el o jlie A gomy Jaxa Y

0S8 VAN 5 U S 5 ccVanall G s aant] o bl (e Tiiie Liaas
Y (LI LS g g ) YA - E VRPN
(o 2 S ) gy GV e

The desk in the classroom is covered with books /Jts

4xan) o e NP >> The desk

Couiay g8 g3y Jara & g cdranl s jall (e e 3> 88 >> in the classroom

Lge2iiug 4y yhall 238 131 <"it" = (The desk in the classroom) Jlagiad (Saall (e
@MY\DJM\&;PJ}M\}JN\BJL\QQJ\S\.J\LQLJJ,_“

P U5t LS apan o jlall Qo it rawall aazai o) (el (g 11
It is covered with books
p awad aganY) o jlall s34 5 czan) 5 jlie & The desk in the classroom 13-

< Wl 5 ¢ (in the classroom) Lsoaall s Jlall 3 ke 5 (the desk) 4xw¥! o Ll
. MN\ 0l

(the head — 1) >> desk

Ji ela 43Y (pre-modifier — L8 Ja%) >> the
n deSk" wi\)”



o_ball & (post-modifier — 2z J24) >> in the classroom

The ) 42awY) o _jluall <l2e (in the classroom) Jsaalls Jlall 3 e 1 JU) 13a &
.. (desk

Gl 1 2my el LY (sams Jdns (& somally Jladl ke 5 (el U (o8 penl o luall-

4. Complement of an Adjective
e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the
complement of the adjective “good”.

We will discuss adjectives in more detail in the coming lectures.
oY 5 dacd )l 4l )
. 4aall AJ@/S.Z -¢

Cliall 4l&AN e Jgeanll WSy Ui 5 ¢ nall JLSY 4 55 pua (& 4l&Al (5 jal 5 e

Ahmed is good at Mathematics /G-
Jdelé >>Ahmed
J=d >> s
CAeddl) @l yaladl 8 cliall 8l ada >> good

JUSY 49 5 5y 4 slaa Lindant o jlaall 038 ¢ 5 y2e 5 Jla 3 e >> gt Mathematics
aleall ol b iadll

C(fan s NBle o) San s ai ) 1 Jlulinde (Ahmed is good) 1 Jsii Ledind-

Ahmed is good at Mathematics: Jsi s aleall JoS o cand



.."good" 4ball Alih .4 "at Mathematics" Lsosalls Jlall 3 b (JUall 128 i
. 4adldll G sl A cldall e (Bl Wl oo S5 WS-

Exercise:

Choose the correct function for the underlined PP.

c. adjunct a. complement of subject+BE

d. post-modifier in an NP b. complement of an adjective

1. We finished our exam in 2 hours.

foam Jars i $alaSs 4 Ja >> jn 2 hours -)

51 "it" = (our exam in 2 hours) il LiSay Y 43 (sany Jaah il 4 aglad) -
LA slaa gl

We finished 4leall muais in 2 hours aiws off LiSey 43Y) Loa alaSs casdl 4 5-
s gl (e agilia) e slaa Litlae ] in 2 hours (81 5 szl AaiSa 4lea our exam
ol oo X anall 13g] 8 )

ot A a5 g e dgilial da glaaS Cela Ll LS cagila j 4y )1 4 in 2 hours 13-
c. adjunct s < sall 13 ¢ o

2. We visited the big shop in the mall.

deldl >> We -Y

J=dll >> visited

saal 5 o2 5 L3l () shadli >> the big shop in the mall
We visited it : Js& ¢l (Saall (e

Wil g1 ) (el JLaSY o liall s2a dalay (i cads Casdd & in the mall Alladl s2a
g3 dama (Al el ¢ (pSl jaial (e adlial daglae Ldanil o jlaall 028 dalay
..(the big shop) 4xeuy) » jlall

e Yy it" i s (the big shop in the mall) 4saw¥! o bl Jlagivl LiSar

4aaul o e NP >> the big shop



d. post- s @l sall " the big shop" 4xw¥) o jlall (g32y J324 >> in the mall
modifier in an NP

3. Mohammed is fluent in English.
Jeld >> Mohammed -Y
Jd=dll >> s
44 >> fluent
fluent 4aall 4l & >> in English

9 13 8 )0 muad g ad 1deludi 3 ((Mohammed is fluent?) :Js& Ledic-
2l JWSY "in English" zlisis ¢fouxad

b. complement of an adjective s i sall 13-

4. Ahmed was in his uncle’s house.

Jeld >> Ahmed -¢

Jz8 >> was
ol el JLSY (55 i aleall oda 8 a3 sa 5 >> in his uncle’s house
. Alaadl JLaSY aalan (ai s ¢ a5 5 Ahmed was 1Jsall LiSey Y -

a. s sl 13 ¢ 5l x4+ Jelill 4leSa & >> in his uncle’s house 13-
complement of subject+BE

5. Ahmed’s uncle has a big TV in his house.
JeWl >> Ahmed’s uncle -°
Jaéll >> has
4l o e NP >> 3 big TV
N9¢ Lidala g 8 Lalia ¢ 5 3w 5 Jla3ke >>in his house
.. (has) 4.8l J=d + (Ahmed’s uncle) Jeléll 41k s 3 big TV aekll-

< ezl JUSY 4 g pia yie 4dlial 4a glas Y «&28 4 (in his house) [
aleaal)



Liagl 4y a3 5 Jinall AlaiSa 4lea (5585w Ahmed’s uncle has a big TV @ Jsill LSy
.. Alial 4. slas Wl ) <508 " i his house" «aual Ladie (K1 g ¢

AlSiey (A k) ady ol 158 alead) (e (in his house) s 130 J)sad) ¢ 5o 130 -

sanl e
AISe gl ed el a saally el s e Aida s 13-

c. adjunct sa <l sall 13-

bl 8 ) s o) cailda gl g gall 5 ol jlall (e 4dlis £ 5l e Eyaall JeSiu
.. algsclause oo ST e gsind ) g Tades AST Jed 336 5 iST St 5 caliall



